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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Fourth Semester
Economics - Allied
AGRICULTURAL ECONOMICS
(For those who joined in July 2020 only}
Time : Three hours Maximum : 75 marks
PART A - (10 x 1 = 10 marks)
Answer ALL questions,

Choose the correct answer ;

1.  Very high proportion of working population is
engaged in __sector in India.
(@) agricultural (b) industrial
() service (d) all the above

2. The largest part of the land sown in India is
devoted in

(@ Wheat () Paddy
(¢) Sugarcane (d) Corn

Land ceiling means

(@) to determing the rural land holdings at the
existing level

®  to determine the quantum of land holdings
by a family
{©) todetermine the urban land holdings

(d)  to determine the land for irrigation

Land reforms arve to eliminate .
(n) .rent (b)Y profit

(© middlemen (d)  land owners

White Revolution was started to  produce

(@) Fish (b)  Paddy
(@ Dlk

(¢) Yood grains

industry is an example for agro based

industry.

@) cement

(b textile

(¢©) mining

(d) iron and steel
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Mujority of the ___ workers zre generally
unekilled,

(3) apgricuturs)
(h) industrial

(¢) werviee sector
(d) noneof thege

the number of lzndless

In the rural arecas,
apricultural Jabour is . "

(1) decreasing

(h) remaining constant
(¢c) increasing

(d) fluctuating

Crop insurance ie divided into two categories 2s
erop yield and __ .

() Crop cost (hy Crop revenue
(¢j Crop margin ) Cropares

The Agricultural Prices Commission was set up 1o
the year 4

(1) 194% (h)y 1951
(@) 1962 W) 1963
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PARTB — (5 » 5 =25 marks)

swer ALL guestions, choosing either (a) or (b).

¢h znswer should not exceed 250 words.

; the inter dependence between

Or
[ist the problems of marginal farmers.
State the objectives of land reforms.
Or

What are the effects of abolition of
intermediaries?
Mention the benefits of green revolution.

Or
VWhat are the benefits of poultry farming?
Tdentify the kinds of agricultural labourers.

Or

Why are wages low in the agricultural

sector?
Pzge4 Code No.:10400 E
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(b)

Summarize the reasons for the slow growth
of marketable surplus.

Or

Enumerate the
distribution system.

objectives  of public

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b),

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Discuss the trends in  agricultural

production.

Or

Write the measures to
productivity in agriculture.

increase the

Describe the reasons for the failure of
tenancy legislation. -

: Or
Define' and explain the: concept of co-

operative farming.

Outline the factors vesponsible for low
productivity of forests.

Or

What are the benefits of floriculture?
Page5 Code No.: 10400 E

19.

(a)

(b)

(b)

" Identify the causes for the increase in

number of agricultural labourers.

Or

Suggest suitable measures to improve the
conditions of agricultural labourers in India.

Explain the various components of food
security.

Or

Find the benefits of crop insurance.
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Time : Three hours

(6 pages)

Reg. No.:

Code No.: 10397 E Sub. Code : AEEC 51

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Fifth Semester
Economics
Major Elective - LABOUR ECONOMICS
(For those who joined in July 2020 onwards)
Maximum : 75 marks
PART A — (10 x 1 =10 marks)
Answer ALL questions.

If the price of a firm's product falls, the firm’s
demand for labor curve

(a) Shifts leftward.

(b) does not shift and there is no movement
along it.

(c) does not shift but there is a movement along
it.

(d) Shifts rightward

In which year was the first suggestion for the
legislation in the act made?

(a) 1934 (b) 1925
© 1936 (d 1937

Which of the following not an example of direct
participation ‘by the employees in participative
management?

(a) A joint management council member

(b) Autonomous work group

(¢ Open-door policy

(d) Suggestion-box scheme

ILO sets standards for which of the following?
(a) Disabled workers

(b) Humgn rights

(¢) Elimination of forced labour

(d) Allof them

ILO headquarters are established in ——
(a) Washington (b) Paris

(¢) London (d) Geneva

Page3 Code No.:10397 g

10.

11.

12.

13.

Importance of efficiency of labouy:
(@) Determinant of the Standard of Living
(b) Determinant of the Rate of Economic Growth

(¢) Better Maintenance of the Capital Stock
(d) All the above

Choose the correct date and year on which
payment of wages act was passed?

(@) 237 Aprill 1936 (b) 28w March, 1937

(¢) 25" April, 1937 (d) 27t April, 1936

In which year did the labour movement start in
India?

(a) 1875 ®) 1918

© 1939 @ 1945

Trade unions are the principal schools in which
the workers earn the lesson of
and

(a) Spirit of combination and class -
consciousness

(b) Social evils -exploitation

(¢) Self- reliance and solidarity

(d) None of the above
Page 2 Code No.:10397E

Employees’ Deposit Linked Insurance Scheme was
introduced in the year

(a) 1948 (b) 1976

() 1923 (d) 1961

PART B — (56 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
(a) What shifts the labour supply curve?
Or |
(b) State the Importance of Efficiency of Labour.

(a) State the important methods of wage
payment.

Or

(b) Explain Marginal productivity theory of
wages.

(a) State the Objectives of trade union.
Or T
() What are the causes of industrial disputes?

Page4 Code No.:10397E
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15. (a)
(b)

Ixplain Works committoc.

Or
What is Joint. managoment: council?
Bxplain the concept of Socinl security.

Or

Describe Welfare measures in Indin.

PART C — (5 % 8 = 40 marks)

Answer ALL questions, choosing cither (a) or (b).

Each answer should not exceed 600 words.

16, (a)
()
17. (a)
(b)
18. (a)

Examine the policies of labour market.

Or

Explain the factors that affect the supply
and demand {or lnbour.

Discuss the Bargaining theory of wage.
Or
Examine the State regulation of wages.

Discuss the Objectives and process of
collective bargaining.

Or

Page 5 Code No.:10397 E

19.

20.

()

(n)

(b)

(n)

(b)

\ . . : .
[ixamino  the  prevention  of  industrial
dispules and the machinery of settling the
mdustrinl disputes in India,

Discuss the role of Worker's participation in
management in India,

Or

Iixplain the system of worker's education in
India.

Tvaluate the recenl trend of  social

insurance,

Or

Discuss the functions of Labour welfare
agencies. :

Page 6 Code No.: 10397 I



Code No.:103890 B Sub. Code : AMEC 41

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022,

Fourth Semester
Economics — Core
BASIC MATHEMATICS FOR ECONOMICS — II
(For those who joined in July 2020 only)
Time : Three hours Maximum : 76 marks
PART A — (10.x 1 = 10 marks)
| Answer ALL questions,
Choose the correct answer :
L. y=10x"aale dy/dx.srans
(=) 120x" (<) 120x'2
(@) 1203 () 120x'°
If y=10x", find dy/dx
(a) 120x" (b) 120x'?
(¢) 120x" (d) 120«'



y=7 erafléd dy/dx snevs

(=) O (&) 7
@ 5 (m 11
If y=7, find dy/dx

@ 0 b 7
© 5 @ 11

u=xy aam smmldpe oufdx womb du/dy arers
(i) Oufdx=y whppib dufdy=x

(=) Oufdx=y* wpmb bu/dy =:'\:2

(@) 8ufdx=3" wppid du/dy ==

() Bufox=2y whpib du/dy =8

Find the éu/dx and oduféy for the functions E
u=xy

(a) oBufdx=y and dufdy=x

(b) Bufdx=y* and du/dy=x*

(© Bu/dx=y" and dufdy=x°

(d) Buféx=2y and dufdy=3x
Page 2 Code No.:10390B
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@=24KL-10L* -8K* aep opusds emmHe

% Lo Hmib % S Hueuienns samLdlueyb

(=) 0Q/0L =24K - 20L wpmytb
8Q/oK =24L-16K

(=) 0Q/8L=4K wpmb Q/oK =4L—-40K*

(@) 6Q/5L=2K wppw 6Q[0K =2L-24K*

(m) 0Q/8L=K wpmbdQ/eK = K*

Find out oQ and 28 for the production function

AL oK
Q=24KL -10I* -8K*

(a) 6Q/8L =24K —20L and 3Q/6K = 24L 16K
() PQ/L =4K and 8Q/6K =4L - 40L’

(¢ 8Q/dL=2K and 6Q/oK =2L-24L"

(d) &Q/sL=K and 8Q/oK = K*

J-’fdx semsSHs

(=) Tx+C (=) 7
@ x (M x+C

Page 3 Code No.:10390B



Calculate j?dx

) Tx=C - (h)

~1

) x d x+C

() ?-c <) 8
@® x 7y x=+C
Find j x'd=x

&
(a) %-—c ® 8
¢) =x d xiC

sefe GCerlun eor sar@Soggeart wriy

() =y ibeuds

&) Laleey (M} TiesE

(i1 Gaed

Who invented the theory of matrices?

{a) Cayley (b) Adam Smith

(c) Kevnes (d) Marshall

Page4 Code No.:10390B

Qeciaus el liyd GhléEgdr earar ararseafler cufiens
sepssiuGEng
(=) Siexfl (<) sewib Camiun(
@) wvises () cumsuflie

An array of numbers in rectangular brackets is
called

(a) Matrix (b) Set theory

(¢) Logarithmic (d) Differentiation
paref® - Qaslif uglumiees gt
apen@wmfibgeurt wimr?

(=) eufled) LiGlamy, SlCwimeimgsaLi

(y) @i cuflg

(@) &eeh

(FF) IDTaEd

Who first propounded input - output analysis?
(a) Wassily W. Leontief

(b) Adam Smith

(¢) Keynes 7

(d) Marshall
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10, eee@ - Gauefii vEuunis
Qe uwsiuREDE!.
() Oamplogidp e payser
(5) o_peyedt
@ Gsmfie
(m)  eppdmore Gpmid
Input - output analysis is used to study the

(a) Inter - industry relations
(b) Relations

(¢) Industry

(d) Independentindustry

PART B — (5 x 5 = 25 marks)

Answer ALL guestions choosing either (a) or (b).
Each answer sho‘ulgl not exceed 250 words.

11. s y=(x*+x)(x*+x) aafld dy/dx srems.
If y=(x*~x")(x*+x) find dy/dx.
. Or
(<) y=5x4—.213 aafle dy/dx. d’yldx® wombd
diyldx® srems.
If y=5x*+2¢*, find dy/dx, d?yldx® and
dyldx®.

Page 6 Code No.:10390 B
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12,

13.

(21)

(<24)

(1)

(<)

w=A4x* + 3y° @er Qungs amslligeners
s Hluieys.
Find the total differentiation  of
w=4x?+ 3y%.

Or
u=x"+y' 58, DEnETEE) uEd
aensli R aeneTh STl dlwsytd.
For u=xz"+y*, find all the partial

derivatives.

I(J:s —x+1)dx sraus.

Find [(x*-x+1)dx.
Or

wHuGE [ -2x-B)dx.
1

Evaluate I(xs -2x—3)dx.
1
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14 =
{ex)
15. (=)
()

2 1
) 4 0)
4=13 0| wpp> B= AB aravs.
- S 8/
o 1)
fa 1)
! 4 0
fA=13 OiandB= 3 g find AB.
5 1)
Or
/2 1 0) 1 2 -1
A=1 -1 2| wppd B=|-2 0 1
lo 1 3) 11 2

eee AB= BA ceuengs sfluTidsa)b.
Venfy whether AB = BA for the matrices

f2 1 ) 1 2 -1
4=/1 -1 2|and B=|-2 0 1
o 1 3 1 1 2

&R - GaefiSE uELumbela el
EGEEIS@ST a(pgis.

Write basic concepts of input - output
analysis, .
Or

R~ O - Ceuefui®

u@Guumielesr
S @CTEESOT slaTdsab.

Explain the assumptions of input - output
analysie.

Page8 Code No.:10390 B

16.

17.

PART C— (5 x8=40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

(<31

(<)

{<21)

(<=21)

y=x'-4x-5 aerp  ermOhE HFsuled
SO GODBFULFEDFE saTLBlwiab.

Find the maxima or minima of the function
y=x*-dx-5.

Or

Cpameué sty q=30-6p-p* aafle

P =2&0 5@@]@ B aumaumi (MR) wpmpib
Cpaes Apélipsfls seameneanus semfluagib.

Find the Elasticity of demand and marginal
revenue (MR), at P=2 if the demand

function ¢ =30-5p- p°.
z=10x+20y—x* - y? ety . AN
SFlsUlsh @GoppsULspamps s Hluab.
Find the maxima or minima of the function
z=10x+20y 27— 3*.

Or

u=x"+y% 42" _3xyz Qe guefar
Copppes Lweru@sd x(dufox)+ y(ou/ay)+
2(Cu/0z)= 3u aren ALY
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18.

19.

(=)

- ()

(=)

Prove x(Buféx)+ y(8u/ov)+z(6uféz)=3u for
the function u=x*+3"+2%-3xyz by using
Euler's theorem.

C=2+6x-4x* aep @pdHewns erm9 e,

Qurss Seawrer Qewa) 50 aafld Gurgss
Qeodllmerd sarsf@ps.

Compute total cost for the marginal cost
function C=2-+6x—4x?, if total fixed cost is
50, :

Or -

Gseas emiy P=25-3x-3x" gaeb,
Geomas (x;) 2 mseyd Quabsted maiGeurfer
= ufl areneTauns @(HEEGD?

If the demand function is P =25-3x—-3x2
and the demand (x;) is 2, what will be the
consumer's surplus? '

Siefieafler auanssaneT cSlend; s,

Explain the types of matrices.

Or
2 1 '
A=[3 J aam  oaflse sgeoedp
E&TL_Hluieyid.

Find the inverse of the matrix A -—_[2 ﬂ

Page 10 Code No.: 10390 B

20.

()

(<21)

seel® - GeueldE

ugLumielien
wsdwusgausms eflatésab.

Explain the importance of input - output
analysis.

. Or
e aral® - Qauali@ uGLUMbele aurbysmar
Aerégs. :

LExplain the limitations' of input - output
analysis.

Page 11 Code No. : 10390 B
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B.A. (CBCS) DEGREE EXAMINATION,

Which of the following is a macroeconomic topic?

(1) Why plumbers enrn mare than painters

(b)  The reasnns for the rise in average prices

(¢) Whether the army should buy more tanks or
more rockets

()  The reacon for a riae in the price of arange
juice

The net value of GDP after deducting depreciation
from GPP is

(a) Net national product

() Net domestic product

(¢) Gross national product

(d) Disposable income

National Income doesn’t include

(a) Intereston unproductive national debt

(b) Income for government expenditure

() The payments by household to the firm for
purchase of goods and services

) Undistributed profits

The increase in unemployment that occurs during
recessions and depressions is called

(a) Structural unemployment

®) Frictional unemployment

(¢ Cyclical unemployment

(d) Normal unemployment

Page2 Code No.: 10392 E

(b) Current income
(¢) Disposable income

(d) Permanent income

Page3 Code No.:10392E

NOVEMBER 2022.
Fifth Semester 3.
Economics — Core
MACRO ECONOMICS -1
(For those who joined in July 2020 onwards)
Time : Three hours Maximum ; 75 marks 4.
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.
5.
1. The study of aggregates is known as
() Macroeconomics
(b) Microeconomics
(¢) Price theory
(d) Factor price determination
6. On which factor Keynesian Theory of Employment 10.
depends.
(a) Effective Demand
(b) Supply
() Production Efficiency
d) Effective Supply
7.  Aggregate Demand curve is
(a) Horizontal straight line parallel to the X-axis
(b) Positively sloped curve
(c) Negatively sloped curve
(d) Vertical straight line parallel to Y-axis
11.
8. Which of these is a component of Aggregate
Demand?
(a) Imports
(b) Investment expenditure 12
(c) Savings -
(d) Exports
9. Friedman's theory of consumption otherwise
known as
(a) Past income
13.

Absolute Income hypothesis propounded by
(a) Keynes

(b) Duesenberry

(¢) Friedman

(d) Modigliani

PART B — (5 x 5 = 25 marks)
Answer ALL Questions, Choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Distinguish between stock and flow concept.
Or

(b) Bring out the limitations of Macroeconomics.
(a) Write a short note on GNP and NNP,

Or
(b) What are the uses of National Income
analysis?

(a) Explain the concept of real balance effect.

Or
(b) What are the types of unemployment?

Code No.:10392 E
(P.T.0.]

Page 4



14. (a)
(®)
15. (a)
®)

Briefly explain the principles of effective
demand.
Or

Bring out the background of Keynesi
Revolution.

an

Explain the Keynes's Paychological law of
consumption.

Or

Briefly explain the
Hypothesis.

Relative Income

PART C — (56 x 8 = 40 marks)

Answer ALL Questions, Choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

()
17. (a)

()

Distinguish between microeconomics and
macroeconomics. :

Or

Explain the importance of Macroeconomics.

What are the methods of estimating
National Income?
Or

Discuss the difficulties in the estimation of
National Income.

Page5 Code No.:10392E

18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

Describe  the  Classical  Theory  of

unemployment.

Or

Highlight the Keynes’s Criticisms of
Classical Theory. ‘

Explain the components of

demand.

aggregate

Or

Examine the determinants of effective
demand.

Analyze the determinants of consumption
function.

Or

Critically examine the Permanent Income
Hypothesis.

Page 6© Code No.:10392 E
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Time : Three hours

10.

Reg. NO. b onmmmmmsmssmass
Sub. Code : AMEC 62
B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
Fifth Semester
Economics - Core

PUBLIC FINANCE -1
(For those who joined in July 2020 onwards)
Maximum : 756 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.

The most important source of public revenue is
(a) Interest
(b) Taxes
(¢) License fee

(d) Dividends and profits

Free rider problem is one of the characteristics of
(a) Private good (b) Public good
(¢) Merit good (d) Mixed good

Indirect taxes have an element of
(a) Equitable )
(¢) Economical )

Certainty

Encourage honesty

based on the principle ‘hig.her the

income, higher the tax’.
(a) DProgressive Tax (b) Proportion Tax

(¢) Regressive Tax (d) Direct Tax

Which one of the following goods is excludable?
(a) Acity bus

(b) A bridge that does not charge a toll

(¢) Protection from the police force

(d) The atmosphere

An advalorem tax is charged according to the
(a) Weight of the commodity

(_b) Size of the commodity

(¢) Value of a commodity

(d) Consumption of a commodity

-

Page 3 'Code No.:10393 E

11.

12,

13.

14,

Public Authorities include

(a) Central Government

(b) State Government

() Local Government

(d) Al of these

In the case of regressive tax, the rate of tax
as income increases :

Remains constant

(a) Increases (h)

(¢) Decreases (d) Becomes positive

Which is the main objective of a tax?
(a) Increase in consumption

(b) Increase in production

(¢) Raising public revenue

(d) Reduction in capital formation

The burden of direct taxes is borne by
(a) Rich person

(b) Poor person

(©) On whom it is levied

(dy Working population

Page2 Code No.:10393 E

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

- Each answer should not exceed 250 words.

(a) Distinguish between Public goods and
Private Goods.

Or
(b) Bring out the scope of Public Finance.

(@) What are the
expenditure?

principles of public

Or’
(b) Explain the causes of public expenditure.
(a) What are the sources of public revenue?

Or
(b) Distinguish Tax and Price.

(a) Bring out the forms of GST.

Or

() DBriefly explain the classification of taxes.

Page4 Code No.:10393E
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15.

16.

18.

()

®)

Highlight the need for Public Debt.
Or

What are the sources of Public Debt?

PART C — (5 x 8 =40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(€:8)

(b)
(1)

®

(a)

®)

Explain the fundamental principles of public

finance.
Or

Explain the role of public finance in India.
Examine the need for public expenditure.
Or

Describe the reasons for the growth of public
expenditure in India.

Explain the administrative revenues of the

government.

Or

Analyze the Dalton's classifications of Public
Revenue.

Page5 Code No.:10393 E

19,

20, .

(n)

(b)
(n)

()

Discuss

.
the Adam Smith’'s canons of

taxntion.

Or
IExplain the merils of Direct Taxes.
Examine the clagsifications of public debt.

Or

Analyze the methods of redemption of public
debt.

Page6 Code No.:10393 E
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Fifth Semester

Economics — Core

ECONOMIC THOUGHT
(For those who joined in July 2020 onwards)

" me : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

Supply creates its own demand is the basis of:
(a) Keynesian Economics

(b) Physiocracy

(¢) Classical Economics

(d) Monetarism

The amount of labor put Into a commodity is a
mneasure of its

a) Use-value
b) Value
¢) Commodity-value

d) Exploitation-value

The elasticity of demand for luxury goods is

a) Infinite

b) More than one

‘¢) Less than one

d) Equal to one

Welfare economics is a branch of economics
dealing with

(a) Social issues

(b) Political issues

(¢y Normative issues

(d) Welfare issues

According to Keynes, the level of unemployment is
determined by

(a) The behavioral of trade unions

(b) Price and wages

(¢) The quantity of money

(d) The level of aggregate demand for goods and
services

Page3 Code No.:10394 E

2. The term laissez-faire means a political theory
where

(a) Government does nothing to control the

economy

(b) Government does everything to control the
economy

(¢) Market is regulated by private parties

(d) Market is regulated by controlling bodies

3. Marginal utility approach was propounded by
(a) J.R Hicks
(b) Alfred Marshall
() J.SMill
(d) A.C Pigou
4, According to Marshall the basis of consumer
surplus is
(a) Law of Diminishing Marginal Utility
() Law of Equi - Marginal Utility
(¢) Law of Proportions

(d) Law of Demand

Page 2 Code No.:10394 E

9. Money supply is autonomously determined in case

of

(a) Keynes theory
(b)  Classical theory
(¢) IS-LM model
(d) Monetarists

10. The first American to win the Nobel Memorial
Prize in Economics is

(a) J.R Hicks

(b) Paul A. Samuelson
(¢) Leontif

(d) Amartya. K Sen

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Write a short summary on Mercantilism.

Or
(b) Bring out the J.B. Say’s Law of Market.

12. (a) What is meant by diamond — water paradox?

Or
(b) What is meant by opportunity cost?

Page4 Code No.:10394 E
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13. (a) Explain the concept of class struggle.
Or

(b)  Write a short summary on reserve army of

labour

14. (a) What 1s meant by Marginal Efficiency «lf
Capital?

Or

(b) Distinguish  between

fiscalism.

monetarism  and

15. (a) Explain the economic thoughts of Von Hayek
Model.

Or
(b)  Briefly explain the contribution of J.R.Hicks

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Examine the Ricardo’s Comparative Cost

Advantage.
Or
(b) Analyze the T.R. Malthusian theory «t
Population.
Page 5 Code No.:10394 E

17.

18.

19.

20.

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

Discuss the vrole of time in price
determination.

Or

Describe the role of entrepreneur and
innovations.

Write a short summary on the Das Capital.
Or
Explain the concept of capital accumulation.
Examine the working process of multiplier.
Or
Analyze the concept of NAIRU Model.

Critically examine the Arrow s Impossibility
Theorem.

Or

Describe the contributions of Amartya

K. Sen.
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Code No.:10395B  Sub. Code : AMEC 54
B.A.(CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Fifth Semester
Economics — Core
TAMILNADU ECONOMY
(For those who joined in July 2020 onwards)

Time : Three hours Maximum : 75 marks
PARTA—(10x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :

L sfpsmige THSDET YHmLURMSSEET ©_eTeTen ?
(=) 17 () 15
@ 12 () 10
How many river basins in Tamil Nadu?
(a) 17 ® 15
© 12 @ 10
5. ————— Qzaafpdureia Cumbsl
s Lelinée SIfutuGEDs.
(=) Gamubusgnt () SEHT
(&) wgeny (M) E1$86GL
is known for bus body building in
South India.
(a) Coimbatore (b) Karur.
(©) Madurai " (d) Tuticorin
6. slpprigd alogey Gurs@augsgl el
SMDHSETETH
(=) Gsalb (=) Smsd
(@) Qedrenan (F)  BEHETQLT
The Rapid transit system in Tamil Nadu is located
in
(a) Salem (b) Trichy
(¢) Chennai (d) Thanjavur
7. Qedrenen Qaanrigd quid Hevewd gpnssiuci
@B
(<) 1868 (<) 1873
(®) 1877 (/) 1881
The Chennai central railway station was opened
in the year
(a) 1868 (b) 1873
(c) 18717 ‘ (d) 1881

Page3 Code No.: 10395 B

Fhblyerer UGS S1G|&E86T

Poppsg.

(@) Gsald (<) sifwgm

@ Apgpat Cm @dewe

The region around ———————— is rich in

mineral ores.

(a) Salem (b) Ariyalur
(¢) Virudhunagar (d) None
sBRETE wéHu e pusfurent

(@) GAwanpd () Qeaumamub
@ vesd (FF)  B(HDY
Tamil Nadu is the major producer of
(a) Sunflower (b) Onion
(¢©) Cotton (d) Sugarcane

SipsanL apss Asmids@nsg, Geaw yspbupng
(SM) eres (<) HQwasr
(@ umsd () seflaflsdr

For which of the following industries, Salem is
famous

(a) Steel (b) Cement

(¢) Cotton (d) computers
Page 2 Code No.:10395 B

“GER" ———————— aflaunsgaid

(@) Qursgs udey eldsid

(<) <ire Hpeamsd Cragein

@) Passy QsmAdwamarGeanri < Gairtiy
(m)  Sgsmusgdler Quretrgmny e1dgid
Expansion of ‘GER”

(a) Gross Enrollment Ratio

(b) Government Enierprises Rationing

(¢) Ground net Entrepreneur Recruitment

(d) Government Economic Ratio

Ceuranavdanan o emay F-A[WRT) aren
wpifrmwssliul Herens

(<)) IDLAD (<) MFAL

(@) NREP () MFAL

The Food for Work program has been restructured
as

(a) IDLAD (b) MFAL
() NREP (d) MFAL

Page4 Code No.:10395 B
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10. SFDA @evemésiiul Hérars

(=) MFAL (<) IRDP
(&) IDLAD (v) TRYSEM
The SFDA has been merged into

(a) MFAL () IRDP

(c) IDLAD (d) TRYSEM

PART B — (5 x b = 25 marks)

Answer ALL questions, choosing cither (a) or (b).
Each answer should not exceed 250 words.

11. (&) salb eueThsdr eranmmé erebren?

What are Mincral Resources?
Or

(=) Pes &yfay eepred araren?

What is land degradation?

12, (@) slPppriged erips Cemfldsd wrmal?

What are the industries developed in
Tamil Nadu?

Or

(=) & WpHmib fymng
= Gs%sburr@&s%[mé; LS OB

Qzmflésaflen

Show the functions of khadi and village
industries.

Page5 Code No.: 10395 B

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (=) srdsmer Siflsors e ugHETEn
SMYSRTRISHENET BT BIGET,

Examine the reasons of over exploitation of

forests. -
Or
(=)  slppriger (el Sibsmigeert  LH
. eflaindlésayb.
Discuss the geographical features of

Tamil Nadu.

17. (@ sOppmiyd Qgmfld euamisdfier HCsrellen
urienss upfl dlaurdéseayid.

Discuss the role of SIDCO in Industrial
development in Tamil Nadu.

Or
(@) 1mendlufleln Sbstisamen eflané@hiaer,
Explain the features of TANSI,

Bar “s46f pOppriger  eueriEulh G
Qe wn”, ddurdésayb.

Electric “Power as a bottle neck in
development of Tamil Nadu”. Discuss.

Or

18. (=)

-Page 7 Code No.:10395 B

13.

14.

15.

19.

20.

(<21)

(<)

(<21

(<)

(=)

(<=4)

(<)

(<20

(<)

Bmesiuc e Sper wbBlw

LIGH 1)
elend g migar.
Explain the concept of installed capacity.

Or

BUpETLigd o oter poeud Ggriiy whpib
aunidl gpenpenus cllaThEs.

Explain the system of communication and
banking in Tamil Nadu.

sOPprigen wéssr Qzres S tifowus
sT_(.

Show the of population in

Tamil Nadu.

density

Or
slppTgar Qemfid apenperw eflarsEs.
pattern in-

Explain the occupational

Tamil Nadu.
55 LAl oLs sTC[.
Show the budget of Tamil Nadu.
Or
5 0s5Hh o 6ra pasdLsmer elaTsEayD.
programmes in

Explain the welfare

Tamilnadu.

Page 6 Code No.: 10395 B

slperigear  CunsGaurss wop  upd
aeundlésey.
Discuss the system of

Tamil Nadu.

transport in

sllppTige wells earsden

NS ENGET
wpmib Cordealsemar <y yryriger.

Examine the achievements and failures of
human resources in Tamil Nadu.

Or

sllppmger Qummerrgry S B wHmLb
euaTiéél upm elleurdléaaib.

Discuss the Economic
development in Tamil Nadu.

planning and

SO pEMgar Qurenmary euerréfluicsy NREP
Beim ukians By FTLRIGET.

Examine the role of NREP in economic
development of Tamil Nadu.

Or

slpprige IRDP Qe wpéfluggaud L
afleundéaayb,

Discuss the importance of IRDP in

Taminadu.
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Code No.:10402E . Sub. Code: ASEC 41

B.A. (CBCS) DEGREE EXAMINATION, |
NOVEMBER 2022. ’

Fourth Semester
Economics

Skill Based Subject — HUMAN RESOURCE
DEVELOPMENT

(For those who joined in July 2020 only)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1= 10 marks)
Answer ALL questions.

Choose the correct answer :

1. In what way training and development offers a

competitive advantage to an organization?
(a) It reduces performance deficiencies
(b) It ensures employee compliance -
(¢) Itincreases the supervisor's role

(@ None of the above

.[\')

Which of the following is not included in human

resource developmen'g?
(@) H\.lman [ESOUICE ialann'mg
(o) Departmentation
(¢) Recruitment and selection

(d) Performance appraisal

The human resource planning is done based on

(a) Market condition’
(b) Financial condition
(c) External environment

@) Organizational plan

What is the reed for human resource planning? .

(@) for undergoing an  effective employee

development program

() to represent a base for recruitment

(c) to repreéent a base for selection policy

@ all of the above -
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The total fertility rate (TFR) is

(a) The number of children born to the average
woman during her reproductive years

(b) The number of births in a country divided by
total population in a given year

(¢ The number of woman age 15-45 in a country
divided by total population

(d) None of the above

Which of the following is an important reason for
organizing a training program?

(a) it contributes to the upgrade the knowledge
and skill of employees for improved
performance

(b) . it has been highly advertised for better
management

(¢) competitors are using the training to create
advantage

(d) ‘none of these

What is the basic objective of human resource
development activities in an organization?

(a) toimprove employee knowledge

(b) toimprove employee hebavior and skills
(c) toimprove erriployee productivity

(d) all of these -

Page 3 Code No.: 10402 E

participant

them.

(& Role playing 0

(© Lectures (@ Mansgement gumes

Which of t.hs-, m"lmv-.u\* iyare 9 cnsiderad &8 e

3 Crprey “
L imman develo LIMen.,

(&) HPI by GEM
© GDI @ Al of the sbave

As per the HDR 2015 in HDL Indis rsnked

() 137 ) 134
(© 130 @ e
PART B — (3 x 3= 23 marks)

Al aswey ALL guestions choasing oither @t ar (o
Y

Each snswer should not sxaced 230 wonds

.
@  Write 2 short note or indlestors of BERD.
) Or
. - e
& What ave the scope of HRIX
(@) Explain the fmporianee ol wmad TOWRY
\ S :
‘“h“.._.
Or
r
v B .
(1)  BExplain  the name sad xS of

manpower planniug.
Pase 4 Code Noo 1 10402 E
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15, (5)

(b)
14. (a).
(b)
15. (a)

Describe population pyramid.

Or

‘Explain the importance of labour force

participation.
State the importance of training of
employces.

Or

What are the principles of training and
development? '

Explain the importance of health in human ‘

development.

Or

(b) Write a short note on GEM.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Examine the nature and objectives of HRD.

(b) Explain the importance and function
HRD. ,

Or
g of

Page 5 CodeNo.:10402E

7.

18.

19.

20.

(a)

(b)
(a)

()

(a)

(b)
(a)

(b)

of man power

Iixplain the objectives
planning.
" Or
[ixamine the process of man power planning.
What is meant by supply of human
resource? Iixplain the concept of fertility
gseortality and population growth.
Or

Discuss the importance of education in the
development of human resource.

Explain the methods of training.

_ Or
Discuss the types of promotions.

Discuss the components of human

development.”

Or

Examine the functions and importance of

. India Human devclopment survey.
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Code No. : 10537 E

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022,

First Semester
Economics — Alliet:l
CONSUMER RIGHTS AND AWARENESS

(For those who joined in July 2021 onwards)

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

A Consumer

(a) Sells goods and services

(b) Consumef goods and services
(¢) Produces goods and services

(d) Delivers goods and services

tier structure was

Under COPRA, a
set up for redressal of consumer disputes.

(a) Three-tier
(b) One-tier
(c) Two-tier
(d) Four-tier

The district level court deals with the consumer
disputes cases involving claims up to

(a) Rs.10 lakhs

(b) Rs.20lakhs

(c) Rs.50 lakhs

(d) Rs. 70 lakhs

In which forum, is it compulsory to have a femalc?
member?

(@) National commission

(b) State commission

(¢) District commission
(d) All of the above
Page3 Code No.:10537 E

Sub. Code : CAEC 11

Maximum : 75 marks

10.

11.

The Consumer Movement started rising in India
as a social force due to

(a) Food shortages

(b)  Unethical and unfair trade practices
(¢)  Adulteration of food and edible oil
(d) All of the above

Consumers have the
trade practices and exploitation.

(@) Right to reject

() Right to information
(c) Right to choose

(d) Right to seek

against unfair

Adulteration is

(@ Selling defective items

(b) Overpricing

(¢) Underweight measurement

(d) Mixing cheap materials

Consumer Protection Act includes
(@) All Goods and Services

() Immovable Goods

() Maovable Goods

(d) Particular Goods and Services

Page2 Code No.:10537E

What does FEDCOT stands for?

(@) Federation of Consumer Organisation In

Tamil Nadu
(b) Forum of Consumer Organisation In Tamil
Nadu
(¢) Federation of Consumer Organisation in
- Telangana

~ (d) Foreign Exchange Development Council in

Tamil Nadu
I0CU was founded in the year
(a) 1950
() 1960
(c) ' 1965
(d) 1966

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Explain the objectives of Consumerism.

Or

(b) Describe the concept of Restrictive Trade
Practices with examples.

Page4 Code No.:10537E
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12.

13.

14.

15.

(a)

(b)
(a)

(®)

(a)

()

(a)

®)

consumer

Narrate the reasons for

exploitation.
Or

Explain the need for consumer rights.

Summarise the importance of Consumer

Protection.

Or
Explain the objectives of Consumer
Protection Act,
Describe the power of jurisdictional
complaints.

Or

Give a brief account of District Forum.

Explain the Federation of Consumer

Organisations of Tamil Nadu.

Or

Describe the objectives of voluntary

organisation for consumer awareness.

Page5 Code No.:10537E

16.

17

18.

19.

20.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

(a)

(b)
(@)

(b)
(a)

(b)
(a)

(®)
(a)

(b)

Explain the growth of consumerism in India.
Or

Describe the origin and evolution of
Consumerism.
Discuss the various forms of exploitation.

Or
Describe the consumer rights in detail.
Discuss the salient features of Consumer

protection Act.
Or

Explain the legal measures taken by the
Government to protect the consumers.

Elucidate the procedure to file a complaint in
the Consumer Court.

Or
Explain the functions of State Commission.

Analyse the role of voluntary organisation in
consumer protection.
Or

Explain the International Organisation of
Consumer Union.
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:zes) Reg. NO. i, 2. Ina market, there will be only are seller

(@) Perfect competition

sae No. : 20792 E Sub. Code : CAEC 21

(b) Imperfect competition
(¢) Monopoly

(CBCS) DEGREE EXAMINATION, APRIL 2022.
7 (d) Duoploy
Second Semester

3. - Manufacturers purchase goods for

Economics — Allied )
(a) Consumption

ECONOMICS OF MARKETING (b) Production
(For those who joined in July 2021 onwards) () Sales
= : Three hours Maximum : 75 marks () Satisfaction
PART A — (10 x 1 = 10 marks) 4. There are elements of selling function
Answer ALL questions. () three

(b) four
Choose the correct answer : !

(¢) five
Goods exchanged for goods are called as (d) six

tem. .

system 5. Anything that possess is described as a
(@) Monetary : ‘ product
(b) Fiscal (@) utility

(b)  visibility
(¢) Barter .

(¢) quality
(d) Both (a) & (b) (d) quantity

Page2 Code No. :20792 E
In the stage of the product life cycle, the PART B — (5 x 5 = 25 marks)
sales are at peak and further increase in sales is
not possible Answer ALL questions, choosing either (a) or (b).
(@) growth Each answer should not exceed 250 words.
(b) maturity
(¢) saturation 11. (a) What are the benefits of marketing to the
@) decline | society?
: Or

ISI was set up in the year i o '
P Y (b) List the objectives of marketing

(a) 1950 4

(b) 1948 v 12. (a) - Point out the different kinds of buyers.
() 1956

(dy 1947 Or

What the elements of selling?
standards are standards prescribed by the (b) at are the elemen ng

individual firm. 13. . (a) Elucidate the features of a product.

(a) . Price Basis (b) Private
(¢)  Size basis (d) Administrative Or
Preservation of goods between the time of (b)  Write a note on Product mix.
production and consumption is called as )
(a) Buying ®) Selling 14. (a) State the differences between
(© Assembling d) Storage standardization and grading.

provide credit facility to the consumers Or
(a) Wholesalers (b) Retailers (b) Mention the aim of ISI
(©)  Brokers (d) Al of the above |

Page 3 Code No.:20792 E Page4 Code No.:20792 E
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15. (a) Trace the essentials of a good storage. 19. (a) Explain the benefits of standardization and

grading.
Or
Or
(b) Discover the types of channels of distribution ) )
of products (b) What is AGMARK? List the benefits of
P ' AGMARK

PART C — (5 x 8 = 40 marks) 20. (a) Enumerate the functions of middlemen.

Answer ALL questions, choosing either (a) or (b). Or

Each answer should not exceed 600 words. (b) Assess the recent trend in marketing.

16. (a) Write an essay on the evolution of
marketing.

Or
(b) Discuss the various classification of markets.
17. (a) Analyze the various purchasing methods.
Or
(b) What are the problems of assembling?
18. (a) Explain the stages in the product life cycle.

Or

(b) Identify the major factors determining
product differentiation.
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Code No.: 10539 B Sub. Code : CAEC 31

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Third Semester
Economics — Allied
ENTREPRENEURIAL DEVELOPMENT
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
1. yssnésd QeiuuGr Ggmfle paaGeurt  erané
A Leuf wimi?
(@) sbdls (=) ey
(Q) sbSCLT (r) emapCeucdaan
Who said “Entrepreneur is an Innovator”?

(a) Adam Smith (b) Marshall.

(¢) Schumpeter - (d) Samuelson

e spmuuy, an@cb@omm(ﬁmrrﬁ 20
Qummerrsny waflsi, 6T LG LHmILD é]és;ms\')g
Silugar b sors  QTUEDS <1fsflés
QuHdGApm.

(=) Capser E.E. (<) gU&sT

(&) Lwwen (F) Gamed
“Entrepreneur is an economic man who tries to
maximise his profits by innovations and problem
solving” according to

(a) HagenE.E () Drucker
(¢ Diamond (d) Cole
Osmfldpenaney aranugl R

(=) pum _ (<) Qewepep

()] st Auu@sgiueut () Sanaalir

Entrepreneurship is a

(a) Person (b) Process

() Visualiser (d) Leader .
GeraupeustaupBléd org Asmifldapamanaian Qeusfiiym
snyeufl Siv? _

' (<=1) @smflédmub () sLLTeuomar

(@) <enenid ()  ordlud _

Which of the following is not an external factor of
Entrepreneurship?

(a) Technology (b) Legal

(@ Personality (d) Political
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MUDRA i Lib aru@Qui(pg) Bl (paD&E aubss?

(=1) 2010 (<p) 2015

(@) 2016 (r) 2014

When MUDRA scheme came into existence?

(a) 2010 (b) 2015

() 2016 (d) 2014

Quans@ErsE SrsaT swrillyseer
shasULSEIuSD Gganeu.

(=) 26l LHHID 5T
(=) Carsman wHDb 5T
(@) <Ghrsemar HMID 2efliiy
() Qeupdle gaildena

Women need in marketing their
products.

(a) assistance and support

(b) advice and sﬁpport

(c) advice and supply

(d none of these

Agmoliym Qsmfléd wenenGeurit Qu#smm&ssﬁ
(=) efeusmu weriumeanLoud e 30 2:4h)
(<) sl @doremiw

(@) Curswmen 2 6rsr Lenioiiy

()  CuGa 2 érer ienags b

Page 3 Code No. : 10539 B

Problems of Rural Entrepreneurship is’are

(a) Domination by agricultural mindset

(b) Lack of education

(¢) Poor infrastructure

(d) All of the above

Srmodyprisaid Qenfa sop Segses Faaa
GO

(=) metuyp Qsmfl@goearsy

(<) Sgmoiyp Gsrnfdpeaay

(@) Quswsar@smidpaaray

(7) uEdpsiiyn Qsnidreaay

Establishing industrial units in rural areas i

!ll

(a) Urban Entrepreneurship
(b) Rural Entrepreneurship
() Women Entrepreneurship

(d) Semi-Urban Entrepreneurship

SIDBI @ swastutL s
(=1) 1988 (<3) 1989
@) 1978 (=) 1979
The SIDBI was set up in

(& 1988 (b) 1989

(© 1978 (d 1979

Paged Code No.:10539B
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Qewdudpg.
(<) TNe (&) TCOs
@ meor () LIC

W0, s1ieon e Qeniiy Qancn®

SIPCOT works in liasion with

@ e (b)  TCOs

© reeor (d) LIC

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
11, (=) QenldepeaGamiian aimasan el .
Ixplain the types of Entreprencurs.
Or

) Qe QaupPamorar  QumildgpeaiGamilen
@ahisaa afleudl.

I3
<

<

Narrate the qualities of a  successtul

entrepreneur. 15.

12, (1) Qamgic apevauailen pERLIGHI QUGS el

Describe the importance of
Entreprencurship. )

Or
Pnge 5 Code No.: 10539 B

(<)

(1)

(<)

(1)

(<)

(1)

(<)

Quemfler  apamenafianen  LMHaEGD GEHOITGPHED
anyaflaen ailondge.
Explain the environmental factors affecting
entreprencurship.
o o_gefld @updeaflan Crrdatizmmens GAULAE.
Mention the objectives of Self Help Groups.
Or
apipr AL upl G F@ssLTE @Heu
RICYIE
Write a brief note on MUDRA scheme.
AymotiLyn Qg apeaiGounflen auminismar
@GBS H e
State the opportunities of  rural
entreprencurs.
Or
Symoliym OOHYID BHETULID QApmfldgpenaciianet
Coumu@is-
Distinguish between TRural and Urban
Entrepreneurship.
DIC @an Qewdun@amar ellanée.
Explain the functions of DIC.
Or
arangd. ¢ LD Qan SmESLOTET Ghumu apg|.
Write a short note on NGOs.
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (=) g@ Gsrfa postaurias ustysmar elaund.

Discuss the characteristics of an
E

ntrepreneur.
Or
(=) Qur@emsry awetrédlulad QsmlldapeaGaundlan
uhisns epaswns asE.

Explain the role of entrepreneurs in
Economic Development.

17. (=) Gzrfapamdas urdish stpafsmar
AsafiayuBsg
Elucidate the factors affecting
Entrepreneurship.

Or
() Carldpraaayisrar snpariacnar efaufl.
Describe the causes of Entrepreneurship.
18. (=) Quew @smPdpaeCanier ukims camasa).
Elaborate the role of Women Entrepreneurs.

Or
Page7 Code No.: 10539 B

19.

20.

(<)

(=)

(<)

Quar  QamfdapmanGain e
uGLUmDey Qews.

Qyadlanananuy

Analyse  the
Entreprencurs.

problems  of  Women

Armotiyp AsmfidapamatGounflar i scmarmamar
cAfleuns eflandis,.

Explain the
Entrepreneurs.

problems of Rur.nl

Or

Agnoiyp AsmPlédaparaCainfan Gyisamasamar
swrafliug ertiiuig?

How to overcome the problems of Rural
Entreprencurs?

SIDBI @é Qawdun@eaman aflaind).
Discuss the functions of SIDBI.
Or

Qemfd  poay o avimal 2_(meundi e do
Sirentiss S utias SLrmis,

Examine the role of Government in creating
entreprencurial spirit.
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Code No.: 10531 E Sub. Code : CMEC 11

B.A. (CBCS) DEGREE_‘ EXAMINATION,
NOVEMBER 2022.

First Semester
Economics — Core
MICRO ECONOMICS —1

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

1. Goods in which their demand decreases as the
consumer's income increases are called

(@) Substitutes

() Complementary goods
(¢©) Normal goods
(@) Inferior goods

Who coined the terms Micro Economics and Macro
Economics?

(a) Alfred Marshall
(b) Ragnar Frisch
(¢) Adam Smith

(d) A.C.Pigou

Which is not a characteristic of human wants?
(@) Wants are limited

(b) Wants are recurring

(¢) Wants are satiable

(d) Wants are competitive

The concept of Utility was first propounded by

(&) Adam Smith () Alfred Marshall
(¢) Stanley Jevons (d) Malthus

According to Hicks and Allen, Utility is

(8) canbe measured in cardinal numbers
(b) canbe measured in ordinal numbers
(¢) cannot be measured

(d) cannot be expressed
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10.

Which of the following will have elastic demand?

(a) Match box (o) Text books

() Medicines (d) Air Conditicners
means transformation of physical

inputs into output.

(@) Production * () Consumption

(¢) Distribution (d) Marketing

Checks adopted by nature to control population is
called checks.

(a) Preventive

" (b) Positive

(¢) Man made
(d) Preventive and Positive

The Law of
Decreasing Costs.

(a) Constant Returns

() Increasing Returns
(¢©) Diminishing Returns
(d) Demand

Iso-quants are convex to origin because of
(a) diminishing MRTS
() increasing MRTS
(¢©) increasing returns to scale
(d) diminishing returns to scale
Page3 Code Ne.:10531 E

is also known as the Law of

11.

12.

13.

14,

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

®)
(@)

(b)

(@)

(b)

(a).

)

Explain the growth definition of Economics.

Or

Describe the subject matter of Economics.
Analyse the features of human wants.

Or

Summarise the reasons

for downward
sloping demand curve.

Explain the properties of Indifference Curve.

Or

Explain the concept of diminishing Marginal
Rate of Substitution with-an illustration.

Describe the concept of Division or Labour.

Or

Narrate the factors governing capital
formation. ’

Page4 Code No.:10531E
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15. (a)

b

White a brief note on production function.

Or

Examine the concept of Iso Quants.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (@
)
17. (a)
(®)
18. (a)
(®)

Explain the difference between Micro
Economics and Macro Economics.

Or

Give a detailed account of ‘Economic Laws'.

Critically examine the Law. of Diminishing
Marginal Utility.

Or

Discuss the concept of Consumer’s surplus. -

Describe the methods of measuring elasticity
of demand.

Or

Examine Consumer’é equilibrium with the
help of Indifference Curve.

Page 5 Code No.: 10531 E

19.

20.

(@

®
(@)

(®)

Discuss the merits and demerits of

small-scale production.

Or

Assess the functions of an entrepreneur.
Explain the Law of Variable Proportions.

Or

State the Law of Diminishing Returns with
an example and analyse the reasons for its
application in Agriculture.
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

First Semester
Economics — Core
STATISTICS FOR ECONOMICS —1
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. A study which involves each and every unit of the
universe is called —————— method.

(a) Complete enumeration
(b) Sampling
(¢) Interview

(d) Questionnaire

Random Sampling is also referred as
sampling.

(a) . Probability (h) Judgement
(©) MNon-Probability (d) Stratified

A tzble ie a systematical arrangement of
statistical data in

(a) Rows

(b) Columns

(¢ Columns and Rows
(d) Schedule

A picture is worth ————— words.
(@ 10 ®) 100
(¢) 1000 (d) 10000

The sum of deviations taken from arithmetic mean
is

(a) Zero (®) One

(¢) Maximum (d) Minimum

Calculate Median marks from the following data:
5, 12, 15, 8, 20, 32, 25, 40

(a) 8 () 20

() 17.5 @ 14

Page2 Code No.:10532E



If the coefficient of variation of a distribution is
50 and its standard deviation is 20, the arithmetic
mean shall be .

(@ 40 ®) 10

© 25 d 04

8.  Standard deviation ¢an be calculated from
(@) Arithmetic mean (b) Medien
(¢) Any average (d) Mode

9. If B, <83, the distribution is ————.
(a) Platykurtic (b) Mesokurtic
(¢ Leptokurtic (@) Symmetrical

10. If a frequency distribution is positively skewed,
the mean of the distribution is

(a) greater than the Mode
() lessthan the Mode

(¢) equal to the Mode

(d) equal to the median

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words. '

11. (a) Summarise the importance of statistics.

Or

(b) What is Data? Distinguish between primary
and secondary data.

Page3 Code No.:10532E

12, (a) Write the requisites of a good table.
Or

(b) Analyse the merits and demerits of graphic
presentation of statistical data.

13. (2) Explain the characteristics
average.

of a good

Or

(b) Compute median from the following data :
Value : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequency: 4 12 24 36 20 16 8 5

14. (a) Calculate quartile deviation and its
coefficient from the following data.

Height of students (in cms) 120 122 124 126 130 140 150 160
No. of students : 1 8 5 7
Or

(b) Write short note on Lorenz Curve.

103 1 1

15. (a) Calculate Kurtosis from the following data.
9,18,7,11,4,6,8.
* Or

(b) Explain the different types of skewness
through diagram.

Page4 Code No.:10532E
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16.

17.

18.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a) Describe _ the important functions of

statistics.

Or
(b) Discuss the methods of collecting primary
data.

(a) Explain the general .rules for drawing a
diagram.

Or

(b) Describe the types of classification with
example.

(@ Find the value of mode for the following
data:

Marks: 10 15 20 25 30 35 40
Numbers: 8 12 36 35 28 18 9

Or

Page5 Code No.:10532 E

(b) Find .the missing frequency from the
following data. The arithmetic mean is
34 marks.

Marks: . 0-10 10-20 20-30 30-40 40-50 50-60
No. of students: 5 15 20 - 20 10

19. (a) Calculate mean and standard deviation of
the following frequency distribution of
marks. )

Marke : 0-10 10-20 20-30 30-40 40-50 50-60 60-70

No. of students: 5 12 30 45 50 37 21

Or

(b) Goals scored by two teams in a football
match were as follows.
No. of Goals scored in a No. of Football

football match matches played
Team ‘A’ Team ‘B’
0 15 20
1 10 10
2 7 5
3 5 4
4 3 2
5 2 1
Total 42 42

Calculate coefficient of variation and state
which team is more consistent.
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20. (a) Compute Karl Pearson’s coefficient of
Skewness from the following data : ’

Profit (Rs. Lakhs) : 70-80 80-90 90-100 100-110

No. of companies : 12 18 35 42

Profit (Rs. Lakhs): 110-120 120-130 130-140 140-150

No. of companies : 50 45 30 8
Or

() Find coefficient of Skewness based on
quartiles and median from the following
data:

Variable: Less than 10 10-20 20-30 30-40 40-50 50-60 More than 60

Frequency : 12 28 50 66 i8 16 10
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022. '

Third Semester
Economics — Core
MATHEMATICS FOR ECONOMICS — I
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer ;

1. LCMof6and10is
(a) 60 by 30
(¢ 10 d 6
2.  The number without fraction is called

(a) real number_ (b) irrational numbers

() integers (d) event numbers

8. In economics, demand curve is an example for
equation.

(a) Linear - (b) Quadratic
(¢ Bi-quadratic (d) Polynomial

9.  The slaope of a straight line ax+by+¢=0 is

(a) ()

(0

Qo 8o

10. If two lines are perpendicular, the value of the
product if their slope 18 —

@ 0 ® 1
e -1 @ o

PART B — (5 x 6 = 25 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Explain the following types of numbers with
example (i) natural number (i) whole
number (iu) integers (iv) fractions
(v) rational numbers,

Or
(b) Solve the following :
) (132)"x(132)" = (132)"'s ¢

() (6)*°x(36)'* +(216)*® = (6)".

Page 3 Code No. : 10535 E

12.

13.

14.

15.

Add 4x2y, -3x%y, - Txy®, Ty’

(a) =%y b o

© =y @ -2y

The 8t term of an A.P 3,5, 7, 9 is
(a) 17 ® 19
© 21 d 156

Empty set is a
(a) Infinite set (b) Finite set

(¢) Unknownset (d) Universal set

If A,B and C are any three sets, then Ax(BuC)

is equal to

() (AxB)u(AxC)
® (AuB)x(Au0)
(€ (AxB)n(AxC)
(d) None of the above

The graph of quadratic equation is a
(a) Straight line () 'U shaped curve
() Vertical line (d) 'L'shaped curve

Page2 Code No.:10535E

(2 Find the sum of the ' geometric series
2+6+18+b4+---.

Or

(b) Explain different typés of Algebraic
*  expression with example.

(@ 'If A={1,3,5) and B={23}, then find :
(i) AxB (ii) Bx A (iii) AxA (v) (Bx B).
Or
(b) Demonstrate Cartesian product of two sets

with an example.

(a) Solve the following quadratic equation :
2x% —Tx+3.
Or
(b) Given the demand function as @d=10-P
' and supply function as Qs=-5+2p,
caleulate equilibrium price (P) and quantity

Q.

(a) If a line passes through (2, -5) and (4, 6) find
the equation for the line.

Or

(b) Find the equation of the line that has a slope
of 1/3 and contains the point (2, —1).

Page4 Code No.:10535E
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PARTC— (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

16. (a)
®)
17. ()
(b)
18. (a)
(b)

Ench answer should not exceed 600 words.

If 4 =64 and 4"** =1024, then find the
value of x.
Or

Describe the laws of indices and surds.

Find the sum of the series

1+3.5+6+8.5+:--+101.

Or
Find the value of the following expressions
at a=1 and b=-2 (@) a?+b%+3ad
(ii) a® +a®b+ab®+ 2.

Explain the types of sets with examples.

Or.

If the wuniversal set is given by
§=1{,2,3,4,5,6}, 4={1,2}, B={2,4,5} and
C={1,5,6} are three sets, find (i) AuUB
(i) AnB (i) A" (iv) B' and (v) check
An(BuC)=(ANnB)W(ANC).

Page5 Code No.: 10535 E

19.

20.

(a)

(b)

(a)

(®)

Find the solution of the simultaneous
equations 6x -5y =10 and 3x+2y =23.

Or
Describe the different types of functions with

example.

Examine the application of analytical

Geometry in economics.

Or

If the line joining the points (-2, 5) and (6, a)
are perpendicular to the line joining the
points (2, —=1) and (8, 3), find a.
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Code No. : 10535 B Sub. Code : CMEC 31

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Third Semester
Economics — Core:
MATHEMATICS FOR ECONOMICS —1
(Fon-those who 'jninediinlJi.lly‘EGZI onwards)
Time :.Three hours Maximum : 75 marks
PART A — (10'x 1i= 10'marks)

Answer ALII questions.

Choose the correct answer.:

1. 6 whmd 106 SEumLo

(=) 60 (<) 30
(®) 10 () ©
L,CM of 6 and'10 is

(a) €0 (b) 30

@ 10 @ 6



Memenb @éﬁ@ng-sm‘wam @eueunm SiePEsElL{Hin 7 ;

. 5. Qeupmssentd eranug
(=) Quen eramaer (<=t) Nfguppm eramaer

(<®) pueyprs semd () @PGeUD HemriD

@) ysss () @riesL el aTansen

* The number withbut fraction is called . | (@) Gpflung semd ()  Swenbgs samd
(a) real number (b) irrational numbers : Eptyt act 18 2 .
(©) integers @ event numbers 1 . (a) Infinite set (b) Finite set

- | (¢) Unknownset (d) Universalset
sal (@ : 4x7y, —3x%y, —Txy?, Tay* | :

| 6. AB womib C gfuee apem semmEisear arafled
Ax(BuC) =

(=) x%y (=) »°
&) - () -2y

Add 4x®y, —3x%y, —Tay?, Tay®

(=) (AxB)u(dAxC)
(=) (AuB)x(AuC)

@ x'y b = (@) (AxB)n(AxC)
©) =y @ -~=% (7) Cupsadlu ageapfldame
3, 5. 7. 9. aep &l ®f Qs euflensulen 8 eug . If A,B and C are any three sets, then Ax(BuC)
2 mliy . is equal to
(=) 17 (<) 19 § (@) (AxB)u(4AxC)
21 T '
@) ® 18, | ® (AUB)X(AUC)
The 8% term ofan A.P 3, 5, 7, 9 is
© (AxB)n(AxC)
@ 17 - b 19 .
© 21 @ 15 (d) None of the abovg

Page2 Code No.:10535 B Page 3 Code No.:10535 B
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Bmug ewenn’ g hHeren suepyuLLD

(=) CriGsn(® (<) 'U' euigeu suanenGam(p
@) QeupisCsrd (m)
The graph of quadratic equation is a

(a) Straight line (b) 'U' shaped curve
() Vertical line (d) 'L'shaped curve

'L angeu euanenGan(p

Qummefluelld CoemaaGan(H FweaTum iy HiE

2 STTERTD S4FLD.

(1) Goiiwd (=) Bouy

(B8) wous () uegiminy

In economics, demand curve is an example for
equation.

(@) Linear (b) Quadratic

(c) Bi-quadratic (d) Polynomial

ax +by +¢c=0 erenm Crir Camiigét emiiay

() < (=) +
a b
b a
@ p (7) r
The elope of a straight line ax+by+c=0 is
c c
(a) ; (b) E
© 2 @ -2
a b

Page4 Code No.:10535B

10.

11.

@ran® Can@sdr pamstaram Qemgssrs Bme@n
Qurups smieysaflen QumEsd LT — &G
FLOLDNE @B)(HEGLD.

(=) O (=) 1

@ -1 (M) <

If two lines are perpendicular, the value of the
product if their slope is

(@ 0 b 1
(@ -1 @

PART B — (6 % 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) Qeneumid cTamasilan qumasmeT 2 STTamEsL T
elers@s. (1) @Qua erarser (ii) A eTERTEET
(i) apuphser (iv) Gememismar (v) «A8saom
GTGT &G
Explain the following types of numbers with
example (i) natural number (ii) whole
number  (iii) integers (iv)
(v) rational numbers.

fractions

Or
Page5 Code No.:10535 B



12.

13.

() &y snaws:

(=)

(=x)

(=)

@  (132) x(132)’ =(132)""*

i)  (6)°° x(36)*° —:-(216)‘3 =(6)".

Solve the following :

@  (132)"x(132)" =(132)""°

(i) (6)°°x(36)*7 =(216)*° = (6)’.
2+6+18+54+- aeap QuUmEGS Gg;m_'rﬂs&r
=Bpd snans.

Find the sum of the geometric series
2+6+18+54+---.

Or
Guisaflss Caneneulen uaCap cumssmer
Slersma.
Explain different types of Algebraic

expression with example.

A={135) wpmo B={23) aafle, () AxB
(1) Bx A (iii) Ax A (iv) (Bx B) srans.

If A={1,35 and B={23}, then find :
(i) A»B (ii) Bx A (iii) AxA (iv) (BxB).

Or
Page 6 Code No.:10535 1B

14.

15.

(=4)

(=)

(=)

(<=1)

Bm semmsailar srieflugt Cumsspuaese
o snyamgsILan g,

Demonstrate Cartesian product of two sets
with an example.

Sivey sme : 2x* ~Tx+3.

Solve the following quadratic equation :
2x% —Tx+3.

Or
Coamaus smiy Qd=10-P whmb Siefoys
sniy @s=-5+2p aeé Qar@asiu i md,
swilena silee (P) wimh spusdflaais (Q)
samsE{Hs.
Given the demand function as Qd=10-P

and supply function as @s=-5+2p,

calculate equilibrium price (P) and quantity

Q.

am Gar® (2, -5) womb (4, 6) duaunier
anfiCu Gsadlng calld =ipss Csmigpsner
SLOSTUITL L. GDEsId ST,

If a line passes through (2. —5) and (4, 6) find

the equation for the line.

Or
Page 7 Code No.:10535 B



16.

(=)

1/3 embeayrean (2. 1) yavall anflunss Qaegib
Garliyhe swenun(® snems.

Find the equation of the line that has a slope
of 1/3 and contains the point (2, —1).

PART C — (b x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

(=)

(=2)

(1)

4" =64 wpmp 4% =1024 e xen
wlenus sy

If 4% —g4 and 4% =1024 , then find the
value of x.

Or o
<iPéesEeE  dfsd  wigb  Adsepon
pamsaiiar edfaenar aileuil.

Describe the laws of indices_and surds.
1+3.5+6+8.5+---+101arefléd
Genaymeuenaunfing wdlienLs aneirs.

Find the sum of the
1+3.5+6+8.5+---+101.

series

Or
Page8 Code No.:10535 B

18.

(=)

(1)

(==t)

a=1 wpmn b=-2 aalld WauEaaauniibe
wHUen s sndns.

i a®*+b*+3ab

(i) a®+a’b+ab®+b’.

Find the value of the following expressions
and b=-2 (i) a°+b*+3ab
(i) a® +a’b+ab® +b°.

at a=1

semhigaflat  cumssmar  a@FHIEET(HLET

eflens(gs.
Explain the types of sets with examples.

Or

5=1{1,2,3,4,56) eraug ooasss smd,
A={1,2}, B={245} wpmd C ={L5,6)
Sspflamen apenp  serhisdt oalld sy
) AuB (ii)) AnB (i) A' (iv) B womb
W) eflurids AN(BuUC)=(AnB)u(AnC).
If the  wuniversal set 1is given by
S={1,234,5,6}, A={1,2}, B={2,4,5} and
C={1,5,6} are three sets, find (i) AuB
() AnB () A (iv) B' and (v) check
An(Bul)=(AnB)yJU(ANnC).
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19.

20.

(=1)

(<)

(<=4)

(=)

6x-5y=10 WOHMILD dx+2y=23 aram
FOMUND&ER&EES 5oy srams.

Find the solution of the simultaneous
equations 6x -5y =10 and 3x+2y=23.

Or
gnirlen cuenasaner o_grramsgier eflaul. .

Describe the different types of functions with
example.

Quirpafliweia LIGApanD cu il 1Sl 6o
LIS LIT(D B ET <Oy Jmiis.

Examine the applicgtion of énalytical
Geometry in economics.

Or

(-2, 5) whpmwo (6, a) wfwu yeredsamen
@AenamsEn Gar® (2. —1) wpmid (8, 3) <pdlw
yeraflaamer B en e @LD Corlign@
Qeiigssnam aeafl®  awlar  wdubmens
Far (Mg ' -
If the line joining the points (-2, 5) and (6, a)
are perpendicular to the line joining the
points (2, —1) and (8, 3), find a.
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Third Semester
Economics — Core
INTERNATIONAL ECONOMICS — I
(For those who joined in July 2021 onwards)
Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

Trade between two countries can be useful if cost

ratios of goods are
(a) undetermined (b) decreasing

(c) equal -(d) different

Gross Barter terms of trade was developed by
F.W. Taussig in

(a) 1947 (b) 1931

(c) 1925 d) 1927

The components of a balance of payment account
are

(a) Capital account (b) ‘Current account

(¢) Both (a) and (b) td) None

Balance of trade is the

(a) difference between export and import of
services

(b) difference between export and import of

_goods
(©) both (a) and (b)
(d) none

Free trade policies is/are

(a) trade of goods without taxes

(b) trade of services without taxes ;
{c) absence of restrictions

(d) all of the above

Page3 Code No.: 10536 E

10.

11.

12.

13.

14.

International trade and internal trade differ
because of

(a) Different government policies
(b) Immobility of factofs

(¢) Trade restrictions

(@) All of the above

In the Ricardian model, trade patterns depend on
(a) Productivity differences

(b) Export differences

(¢) Marketing differences

(d) None of these

Who is the father of opportunity cost theory?
(a) Gottfrid Haberler

() David Ricardo

(©) Alfred Marshall

(d) John Haberler

The 'terms of trade' was coined by
(n) Robert Torrens

(b) Frank William Taussing

(c) David Ricardo

(d) Joseph

Page2 Code No.: 10536 E

Protection takes various form(s)
(a) Importtariffs (b) Subsidies
(c) Quotas (d) Allof the above

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words,

(a) Explain the need for international trade.

Or

(b) Write a brief note on internal and external
trade.

(a) State the assumptions of comparative
advantage theory. .

Or
) Narrate the defects of Haberler's model.

(a) Write a brief note on terms of trade.

Or

(b) Explain the concept of real cost terms of
trade.

(a) Explain the concept of balance of trade.

Or
() Describe the structure of balance of payment.
Page4 Code No.:10536E
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15.

1G.

18.

(r)

®)

Explain the need for free trade,

Or

Write a brief note on "Trade protection”.

PART C — (6 x 8 = 40 marks)

Answer ALL questiong, choosing either (a) or (b).

{(a)

()

(a)

®)
(a)

()

Each answer should not exceed 600 words.

Discuss the nature and scope of international
trade.

Or

Explain  the merits and demerits of
international trade.

Elucidate the opportunity cost theory.

Or
Critically examine Heckscher - Ohlin theory.

Explain the determinants of terms of trade.
Or

Explain :

(1) Gross and net barter terms of trade

(ii) Single factoral and double factoral
terms of trade.

Page5 Code No.:10536 E

20.

(=)

(b)

()

(b)

Describe the methods  of  correcting
disequilibrium in balance of pnymenta.

Or

Describe the recent tremds in balance of
payment.

Analysis the case for and against free trade.

Or

Examine the methods of trade protection.

Page6 Code No.:10536 E



Code No. : 10541 E

Time : Three hours

=1

10.

(6 pages)
Reg. NOu & i

U.G.{(CBCS) DEGREE EXAMINATION,
NOVEMBER 2022

Third Semester
Economice

Nen Major Elective — ECONOMICS FOR
COMPETITIVE EXAMINATIONS -1

(For those who joined in July 2021 onwards)

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
Disposable income =
(a) Per capita income — direct taxes
(b) Personal income — direct taxes

() Personal income — indirect taxes

(d) Direct taxes + indirect taxes

In India, the originator of green revolution was

(a) Garry Becher
(b) V.KR.V.Rao
(¢) M.S.Swaminathan
(d) Norman E.Barlaug

FCI means

(a) Fertilizer Corporation of India
(b) Food Corporation of Industries
{¢) Food Corporation of India

(d) None of these

SIPCOT was established in the year —

(a) 1971 (b) 1982

() 2004 (d) 1993

Service  sector  provides  employment  to
approximately of the population.

(a) 46% (b) 52%

() 12% d) 23%

Page3d Code No.:10541 E

Sub. Code : CNEC 31

Maximum : 75 marks

11.

12,

13,

14,

Deprecintion

{(a)
(h)
(c)
()

the national income.
Lowers

Incrensea
Makea no charges in
(a)yor (h)

Economic planning refers to ——————

(a)
(b)
(c)
(d)

the mobilization of tazes
the acquisition of foreign capital
the allocation of resaurcas

the planning of man power

The period of nineth five year plan 1s —

(a)
(c)

1997 - 2002 (b)
1994 : 2004 (d)

1998 - 2003
20014 -2008

A budget in which total expenditure must equal

(a)

total receipts is ————— budget.
neutral (b)y favourable
unbalanced (d) balanced

(c)

The budget is presented in the parliament by the

(a)
®)
(©
(d)

Prime minister
Finance minister
Governor of RBI

Finance ministry

Page2 Code No.:10541 E

PART B — (5 x 5 =25 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(a)

®

(a)

(b)
(a)

(b)
(a)

(b)

(a)

()

State the definition of national income.
Or
Estimate the uses of national income.
Describe the objectives of planning.
Or
Explain the financial planning.
Appraise the features of a budget.
Or

Appraise the performance budget.

Point out the importance of minimum
support price for agricultural products.

Or

Determine the need for procurement of
agricultural products by the government.

Give examples for the services rendered by
SIPCOT.
Or
What is meant by special economic zone?
Page4 Code No.:10541 E
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16.

17.

19.

PART C— (5 x 8 = 40 marks)

Answer ALL questions choosing either () or (b).

()

®)

(n)

®)
(a)

()

(a)

()

Each answer should not exceed 600 words,

Evaluate the various concepts wused in
national income.

Or

Examine the various methods of measuring
the national income,

Categorize the objectives of tenth five year
plan.

Or
Explain the objectives of NITI Aayog.

Differentiate balanced

budget  from
unbalanced budget.

Or
Describe  main
2022-23 budget.

announcements of the

Debate on the benefits of green revolution.
Or

Appraise the causes for fluctuations in the
prices of agricultural products.

Page5 Code No.:10541 E

20. (a)

()

Discuss the benefits obtained from micro,
small and medium enterprises.

Or

Tstimate the growth of service sector 1n
India.
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Code No.: 10542 B

Reg, WO &
Suh. Code : CNEC 32
V.G (CRCS) DEGREE EXAMINATION, Y
NOVEMBER 2022
Thard Scmrs-u‘r
Eeonomics — Non Major Elective
GENERAL ECONOMICS
(For those who yomed in July 2021 onwards)
. Three hours Maximum : 76 marks
PART A — (10°x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

Quirpengrpgdan Qsdeu @eésargas auprudlweut
e,

) <sesE L wriaged
() ey td enfig
(@) olunad rmieret
(m sngpGardean
=05 dooldd  sfs  CQuiper aapre 7.
(o) Caaau efflay (<) Cgeeus &@ésas.m
E) Czeeul QuEmsse () Ggmm& EODay
More quzntity at same price means
a) Extension of demand
(b) Contraction of demand
(¢) Increase in demand
(d) Decrease in demand
Cefiliny eraigy & SIqou@L 8.
R R R G
@ Poeazibe () el
Savings is the basic for .
(a) Capital (b} Income
(¢) Enterprise .(d) Supply
gm Ggnfe pemalant geng)
Qau@gsdlanu) Gugeun .
() padia (.55',] sont_4lusma,
(#)) ybusda () (pseIanDUINE 9,
An entrepreneur is the to claim his
reward.
(n) First (b) Last
(¢c) Initially (d) Primarily

Page 3 Code No.: 10542 B

| mpmh pusiisdr @aumaunpd

Wealth definition of cconomics was given hy

(n)  Alfred marahall (h)
(c)y  Taonel Robins (d)

Adam smith

Samuelzon

e Eemcdr apsrCenpmd srgHuned o
o) wymopfl g psrdsin
(ety) muidbpmi@ o gal)
3 Sadlog
(fr)  uereigmb
Development is impossible without
(1) Incentive to profit
()  Foreign aid
(¢) Savings
() Inflation
G@wiss uuestun () TG
a@aeilambs QupUULL LuUT TEHb.

(S1) (pHeTaIZ (5) B refrieug

(@) swL b (FF)  sanemsEih

Total ut,iliu} is the wutility obtained from
the units

(a) First (b) Second

l(c) Last (dy All

Page 2 Code No.:10542 B

en Hapaytt Gurliyg ST D, aThigueuitser

(=) eSemen erBlL@IfSET
(<) elameeanw af Qauiueurser

(@) e Biemrud Geliersar

(m)  efeme exdafliureTiaseT

In a perfectly competitive market, both buyers and
sellersare ______ .
(a) Price takers (b)

Price adjusters
(¢) DPrice deciders (d) Price informers
aphmflano Smsmgula, Bl cuargAnEn
QamPguéEn Bear_Cuw

(o) Caumun® @dame
(@) Ceaumuin® eehang
(@) Caugur® @ésomd
(m)  @&d egib Qb
In a monopoly market, there is
between firm and industry.
(1) No difference (b)
(¢) May be difference (d)

Difference

None of these

GunCGeuimn L sl GTERTLIg Qummenar
siflapatiu@agd  Cung afleraew
Baasuib Qeliaugmng.

(&) Gophe () s

(@ Szwrer () Nas@eenhs
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Skimming price means fixinga priee

while introducing the product.

(2)  Lower (h  Thgher

) Moderate () Very lower

10, sipds &Goa frevw gpepudd & o Ll

& Rea aNe@end
. b

e ipeRarsapar,
() Badapdo K100 (&) @pdu 10D

@) Fewe aned (1) s hisTigh GTEQID

Under the customary prices method, the firms

aceept the price prevailing in the

i

() Very short run ()  Short run
(¢} Long run (d)
PART B — (5 x 5 = 25 marks)

. Answer ALL questions, choosing either (a) or (b).

Market period

Each answer should not exceed 250 words.

11 (@) Qummergrjger
Rasearday Dard@s.

Explain the material welfare definition of
£0ONOMICS.

Or
(<) Qeoeugden Lenus@ad sy,
Deduce the characteristics of wealth.

Page 5 Code No.:10542 B

(=) @nd Beoas Qsea; Aawew dlaufléaab.
Describe the marginal cost pricing.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (é.) genafan  Qur@engryd  wHpd Curlud
GungmemgTye sfluapap Caimu5gi5.
Distinguish between micro economics and
macro economics.

Or

() wafly  Amuunisear Gludy g
CUENSELOCT <5 TUIS.

WHmID

Examine the characteristics and
claseification of human wants.

17. (=) Cawamu dheraluumasemar eQard 5.
Explain the determinants of demand.
Or

(<5} %jaﬁﬂ‘-mni Ghsib Gy HHEEY
wire, chlardsa)b.

Sipfgen

Critically explain the concept of consumers
surplus.

18, (&) zenpialen Bludioa &8s eard. .
Summarize the characteristica of lnbour.

Or

pPage7 Code No.: 10542 B

Qumgnergmt Be l

12

13,

14.

19.

20,

()

(o)

(<)

(<)

(<21)

(31)

(<)

(<)

lnngs LT UTL anL.
LrektrC e e Uil Gis.

Soh

Flenes

Compare total utility with margiral utility
Or .

Guenany  srpaat  wpmbh  Csaas  Eape)
o fluietiflie o GagdaT_ (5 s,

Give exataples for contraction of demand and
decrease in demnand

ppmeangfeit Glusdhmenar oG s,

Appraise the characteriatics of capital,
Or

Seuamaun) Qe Seninssnat wHNDS

Evaluate the disadvantages of dinson of
fabour.

eflenculs CUME ST

saflssa)b.

Cusrtisti (galen

Predict the forms of price discrimination.
Or

wpppflanlea Sowsmar Sraralss.

Determine the evils of monapoly.

e eneus s Terandeni &Tyent sameT

Siworeflés.
Judge the factors influencing pricing policy.
Or

urdlse b

Page 6 Code No.:10542 B

Geuana uEGLHSen
gewsmer Luflay Qslis.

BSOS Lopmib

Record the advantages and disadvantages of
division of labour.

womflebssrer smearmamer LALGQS.
Rate the causes for manopoly.

Or
apppflen Cuiy emangla @udysama
wd9@Gs.

Appraise the features
competition market.

of monopolistic

eflencud Qaranensuller

Crrssmaanar
EAanamssajb. ‘
Associate the objectives of pricing policy.

Or

ca@peud oo bl penawsa
wHpb E@PLIRSELE LGUUTLE dshs

Analyze the penetration prices with their
relative merits and demerits.

B s
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Code No.: 10191 E Sub. Code : SAEC 1V

AAEC 11
B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
First Semester

Economics — Allied
PRINCIPLES OF ADVERTISEMENT — I
(For those who joined in July 2017-2020)
Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

Who is called as; the father of advertising?
(&) Kennedy

(b) Benjamin Franklin

(¢) Egbert

(d) None of the above

o

Advertising is a

(a) method of promotional mix

(b) form of publicity

() non-personal communication

(d) all of these

Which one of the following is the supplement to
other main form of advertising?

(a) sky advertising

(b) television advertising

(¢) radio advertising

(d) none of the above

Media of indirect advertising is

(a) newspaper (b) television

(¢) radio (d) all the above

While selecting a particular newspaper as a

media, is to be considered in mind.

(a) circulation of the newspaper

.(b) advertisement tariff

() space availability
(d) all
Page 2 Code No.: 10191 E



0

‘eonomic and political weekly' is a
(n) consumer magazine

(by trade journal

(¢) women's magazine

(«() none

Interior displays are most suitable for
(n) readymade garments

(h)  foot wears

(¢)  home apphances

() all of these

Wall advertising is

(n) outdoor advertising
(h) indoor advertising
(¢) firm advertusing

(d) all of these

Television advertising started in India in the year

(n) 1970 (b) 1973
(¢) 1975 (d) 1976

Page 3 Code No.: 10191 E

10.  The advantage of cable TV is
(1) testability (b) flexibility
(¢) low cost (d) all the above

PART B — (5 x 5 = 25 marks)
Answer ALL questions choosing cither (a) or (b).
Sach answer should not exceed 250 words.
11. (a) What are the objectives of advertising?

Or

(b)  What arc the features of advertising?

12. (1) DBring out the advantages of selecting the
media.

Or
(b) Summarise the advantages of making

display.

13, (n) What are the features of newspaper
advertising?

Or

(b) List out the merits of magazine advertising.

Page4 Code No,:10191 E
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1. (a)
(b)
15. (a)
(b)

What are the of outdoor

advertising?

advantages

Or

Differentiate newspaper advertising from
magazine advertising,

State the types of film advertisement.

Or

What are the
advertisement?

demerits of internct

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Kach answer should not exceed 600 words.

16, (a)
(b)
17. (a)
(b)

IExplain the types of advertising,

Or

Deseribe the economic effect of advertising.

FExplain the forms of sales display.

Or

Deseribe the characteristics of advertising
media.

Page 5 Code No.:10191 E

(b)
19. (a)
(b)
20. (a)
(b)

Explain the different types of magazines.

Or

Explain the merits and
newspaper advertising.

limitations of

Iixaniine the different forms of outdoor
advertising.

Or
Differentiate indoor advertising from outdoor

advertising.

What are the merits and demerits of
television advertising?

Or

Summarise the merits and demerits of radio
advertising.
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Code No. : 10191 B Sub. Code : SARC 11/
AALLC 11

B.A(CBCS) DEGRER CNAMINATION,

NOVEMBIER 2022,
First Semester

liconomics — Allied

PRINCIPLES OF ADVERTISEMENT — 1

(IFor those who joined in July 2017-2020)

Time : Three hours Maximum : 75 marks
PART A —(10x 1 =10 marks)

Answer ALL questions.

Choose the correct answer.

L eflembuygdlen shang erenm wiepdsiiu@ueni wri?
(=1) Gaeheay.
(<) Quepsdlen Qyniseflen
(@) er&umc

() Gopaaplwesfe ereaumuidmen



1o

Who is called as the father of advertising?
(a) Kennedy

(b) Benjamin Frahklin

(c) Egbert

(d) . None of the above

aflemburu(BSgISED TG
(1) Cuburl (& semeaudan R oD
(=) wepanhmBedlan @ eulg.uld
(@) e emyr seeue Qs
(F) Qeeu Si@ESHID
Advertising is a
(a) method of promotional mix
(b) form of publicity
(¢ non-personal communication
(d) all of these
EpssranueupmeT  Ghs Qe wHm sl
eNeTDLTSSDH S &I ILTEIST(ELD.
(1) eumen@euafl eflembuiyid
(<) Qsranasst & eflerbugbd
(8) eur@amel eflembLigid
() Gupamblu ergafldme
Page2 Code No.:10191 B

Which one of the following is the supplement to
other main form of advertising?

(a) sky advertising
(b) television advertising
(¢) radio advertising

(d) none of the above

(=) Qeldsgrerast
(&) CGereaéstid
(8) «urQammel

A i st

UEE S@Eeglle

Media of indireet advertising is
(a) mnewspaper (b) television

(@ all the above
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While selecting a particular newspaper as a
media, ———— 1s to be considered in mind.

(a) circulation of the newspaper

(b) advertisement tariff

(¢) space availability

d) all '

‘Economic and political weekly’ eramug) ¢a(m
(=) msrGeurnt ussfsans
(=) eumenfiu L fsams
(8) Quamsdr usdHfisms
() ameybldene
‘Economic and political weekly’ is a
(a) consumer magazine
(b) trade journal
(¢) women’s magazine
(d) none
R 1 T T S —
ApBEETELD:
(@) uds YDLEEBEE
() sreensEhsE
(@) & 2uCursl QurklsEnss
()  Bleveu sienansdinELo
Page4 Code No.:10191 B

Interior displays are most suitable for
(a) readymade garments

(b) foot wears

(¢c) home appliancés

(d) all of these

&euf eflembuyd eTaLIg)
(1) Qeuefl ellembugid
(<) <=i& efleTburib

(@) Fmeuer aflarbunid
(%) @ereu scnergid
Wall advertising is

(a) outdoor advertising
(b) indoor advertising

(¢) firm advertising
(d) all of these

Qsrenasst A elanbugd @pHwureild Qem maiur

QU(HLLD
() 1970 (=) 1973
(&) 1975 () 1976
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Television advertising started in India in the year

(a) 1970 (b) 1973
(¢ 1975 (d) 1976
10. Gsler .68 eSlarbuysHan BerenLOWITETS)
(=) ulGerdlesgsss
(<) Opflpssujeming
(8) Gswalgeopey
(r)  Cupaadiu iemerssid
The advantage of cable TV is
(a) testability (b) flexibility
(¢) low cost (d) all the above

PART B — (5 % 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.
11, (=) elembursden Crrsstisar wreneu?
What are the objectives of advertising?

Or
(=) eSembursdlen @uieLaer wimemel?
What are the features of advertising?

Page6 Code No.:10191 B

12.

14.

(1)

(=)

(1)

cilembuy srgeansems QsMHEgHULSET LweTsamen
Qeuails Carenris.

Bring out the advantages of selecting the
media.

Or
&8 9|enLILIGET FETELDEET &G(HEIGEH fal).

Summarise the advantages of making
display.

Qewidlsgrer eflambUsdlen @weLiseT wreneu?

What are the features of newspaper
advertising?

Or

oy @spseild  eflembumd Calieugan
BeneL&a e UL Il (0 s.

List out the merits of magazine advertising.

ymeferbuyhigaile BeanoseT WITeal?

What are the advantages of outdoor
advertising?

Or

Page7 Code No.:10191 B



ellembugrisamer Ferflens

(=) Qaisfpgrer
eflemburiigeiallpHg Coumubssis.

Differentiate newspaper advertising from
magazine advertising.

15. (=) deruuc eflanbuy cuamssamaT gaml.
State the types of film advertisement.
Or
(=) @@amwuger eflembursHlen GenpuUT@HseT wrene?

What are the demerits of internet
advertisement?

PART C — (5 x 8 = 40 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (=) eSembursdlern aumssamen elleTae.
Explain the types of advertising.
Or
(<) eflembuggdlen Qummarngny elenareyseaer sfleur.

Describe the economic effect of advertising.

Page 8 Code No.:10191 B

18.

19.

(<) eflpumens sm_Auller cumasmer alland@s.
Explain the forms of sales display.
Or
(=) eflembuy sngemisater @ wasamer efleur.

Describe the characteristics of advertising
media. '

(=) @swsailear vaGamn cumasmar elleTéEs.

Explain the different types of magazines.

Or

(=) Qewflssrer eflembugsdlen penensdr WHmILD
Sewaamer eflarsss.

Explain the merits and limitations of
newspaper advertising.
(<) umelembLrs srpeamisailen cumssmaer s,

Examine the different forms of outdoor

advertising.
Or
(@) <6 efanburms@er  ypederburtisale msbs)
CaumLBSs1s.
Differentiate indoor advertising from outdoor
advertising.
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20.

(1)

Gsmenevsam & eflerbLrsden penanoaer wHMID
SevloseT wireneu?

What are the merits and demerits of
television advertising?

Or
aunGennell  efleTbuysdlen  memenwEET  LHMILD
Emwamer AsTEGES! euLphIEGS.

Summarise the merits and demerits of radio
advertising.
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Code No.: 10192 E Sub. Code : SAEC 21/
AAEC 21

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
Second Semester
Economics — Allied
PRINCIPLES OF ADVERTISEMENT — II
(For those who joined in July 2017-2020)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.
1. Setting the promotion budget so as to match the

budgets of the competitors is a characteristic of
which of the following budget method?

(a) Ai’ifordable method

(b) Percentage-of-Sales method
(¢) Competitive-parity method
(d) Object-end-task method

What is the first elements that a reader notice in a
print advertising?

(a) Copy (b) Ilustration

(¢) Head line (d) Slogan

An Ad copy that uses the endorsement of a
satisfied customer is known as

(a) comparative copy

(b) reminder copy

(¢) expository copy

(d) testimonial Ad copy

Copy testing is a specialized field of marketing

research that determines an ad's effectiveness
among customers. It is also known as

(a) Post-testing

(b) Copy tasting

(¢) Pre-testing

(d) Primary testing

The content and context of a message contained in
an advertisement is called

(a) Ad copy (b) Secript

(¢) DBody (d) Advertising appeal

Page 2 Code No.: 10192 F,



is a plan of presenting the message
in a more specific and compact form within the
adverlising space available to the target

consumers,

(n) adycrtiscmcnt media
(b) advertisement copy
(¢) advertising layout

(d) teaser advertisements

Communication  activities ~ which  provide
incentives to consumer is known as

(a) Advertising (b) Direct Marketing
(¢) Sales Promotion (d) " Publicity
The central theme of an advertisement that

motivates the consumer to make a purchase
decision 187

(a) Advertising appeal
(bj Advertisement script
(¢) Slogan

(d) Headline

Page3 Code No.:10192E

a Information and persuasive content can be
combined in the form of an appeal to

(a) Provide a basic reason for the consumer to
act

(b) Explain guilt and enrichment
(¢) Satisfy hierarchical needs
(d Include perceptual modifiers and need

enhancers

10. Which of the following is usually, not an area of
responsibility for people who work in an _
advertising agency?

(a) Research (b) Creativity

(¢) Printing (d) Buying

PART B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Discuss the various steps involved in
preparing an Advertising Budget.
Or

(b) What are the factors affecting advertising
budget?

Page 4 Code No. : 10192 E

[P.T.O]



12, (a)
(b)
13. (a)
(b)
14.  (a)
(b)
15. (a)
(b)

What are the Characteristic qualities of a

copy?
Or
What are the main elements of Copy?
What are different clements  of print
advertising?
Or

What are features of a Good Layout?

State the different types of appeals used in

advertising.

Or

State the methods to evaluate advertising

effectivencss.

Give the chart of organisation structure of an

Advertising Agency.
Or
State the structure of Advertising Agency.

Page 5 Code No.: 10192 E

PART C — (5 x 8 = 40 marks)
Answer ALL questions choosing either (a) or (b).
Bach answer should not exceed 600 words.

16. (2) Discuss the importance of advertusing
budget.
Or
() Define Advertising Budget and explain the
various methods of framing the Advertising

Budget.

17. (a) Explain the fundamentals of preparation of
effective advertising copy.

Or
(b)  What is Copy? What are the essentials of a
good copy?
18. (1) What are the types of Layout?
Or

(1)  What are the steps invelved in process of

Layout?

Page 6 Code No.: 10192 B



19. (1) Whatare the essentials of a good advertising

appeal?
Or
(b) Write an cssay about the evaluation of

measuring advertising effectiveness.

90, (2) What factors would you keep in mind while
Sclecting an Advertising Agency?

Or

(b) What is an Advertising Agency? State and
explain the functions of an Advertising

Agency.
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Code No.: 12038 E  Sub. Code : SECO 5 A

AECO b1

B Com. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
Fifth Semester

Commerce

Major Elective — INCOME TAX LAW AND
PRACTICE -1

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  The income tax act, 1961 came into force w.e.f.
(a) 1= April 1962 (b) 31= March 1961

(c) 1= April 1961 (d) None of the above

=1

The basis of charge under the head income from
house property is

(a) Rent received

(¢) Annual value

(b) Gross annual value
(d) None of these

8.  The tax paid by the tenant is
(a) Added to rent received
(b) No adjustment
(c) Added to annual value
(d) All the above

9,  Indexation will be allowed in case of

(a) LTCG (b) STCG
(c) Both (d) None
10. How many types of capital gains are there?
{a) 3 ) 2
(c) 4 d) 6

PART B — (6 x b = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Enumerate the objectives of taxation.

Or

(b) Distinguish between capital receipt and
revenue receipt.

Page3 Code No.:12038 E

12.

13.

14,

Particulars  House

MRV
FRV
SR

The year in which the income is earned is known
na

(n) previous year

(¢) both (a) and (h)

(b) financial year

(d) none of the abave

BOI consist of

(n) Individual only

(b) Other than individual
(c) Both

(d) None of these

Salary to MP/MLA ia

(a) exempted b) free

(c) taxable (d) illegal

HRA exempted u/s

(a) 15(13B) ) 12(13C)

(c) 10(13A) - (d) none of these

Deduction allowed against gross salary

(a) Income tax (b) Entertainment tax

(c) Professional tax (d) Education tax

Page2 Code No.:12038 E

(a) Mr. Jayesh is an Indian citizen who lives in
India since 1984. During the previous year
2020 - 21 he went to Arabia for 325 days.
Identify his residential status.

Or

(b) An assess commences his business on
(1) 1#t July 2019 (i1) 1*t October 2019 (i) 1%
Jan 2020 In each case, what will be his
assessment year and what period will be

treated as his previous year for the concerned
assessment year?

(n) Mr. Rohith resides in Chennai and gets
T 10,000 per month as basic salary T 8,000
PM as DA is (entering service benefit)
T 12,000 pm as HRA he pays T 10,000 PM as
rent, Caleulate taxable HRA,

Or

(b) How to calculate exemption for leave salary?

(n) From the following calculate gross annual
value,

House House House House
l 1l Rt v \Y
20,000 25,000 30,000 35,000 40,000
40,000 32,000 26,000 28,000 Nil
30,000 28,000 32,000 NA NA
Or
Page4 Code No.:12038 E
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(b) Wnite short notes on :
(1) standard rent
(1) wvacancy
(1) composite rent.

15. (a) Profit and loas a’c of Mr. Rahul is as follows .

Particulars t Particulars t
To salary 50,000 By grosa
profit 2.00,000
To income tax 9,000 By dividend 20,000

To eontertainment exp
{entire amt. for business) 20,000

To bad debts 1,000
To net profit 1,40,000
2,20,000 2,20,000
Compute buriness income.
Or
(b) What are the powers of commissioner of
income tax?

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a) Calculate income from salary of Mr. Chellu
who is working in Airtel Pvt. Ltd., from the
following information

(1) Basicsalary - T 12,000 PM
(i) DA (not forming part) — ¥ 6,000 PM
Page5 Code No.:12038 E

18. (a) From the following P and L a/c calculate
income from business.

Particulars T Particulars z

To rent and rates 45,000 By gross profit 2,25,000
To dep.on machinery 8,000 By income from other sources 1,50,000
To dep.on furniture 2,000 By income from capital gain  1,00,000
To purchase of motor car 50,000 By miscellaneous income 1,25,000
To car expenditure 3.000
To adverusement (cask)  25.000
Te net profit 4,67.000

6.00.000 6,00,000

(@ Allow % 5,000 as depreciation on
machinery. ‘

(i) 50% of motor car expenses related to
personal use.

(iii) Miscellaneous receipts is approved by IT
authority as business income,

(iv) Motor car has no depreciation.

Or

(b) Who is a principal offer? Write the duties.

19. (a) Calculate depreciation from the following
information.
Assets WDV as Additions Amount  Rate of
on during realized depreciation
01.04.20 2020-21 toscrap

Hotel 7,60,000 2,560,000 1,00,000 10%
building

Furniture  3,00,000 1,00,000 Nil 10%
Calculators 5,000 Nil Nil 15%
Pand M 10,00,000 5,00,000 2,00,000 15%

Page7 Code No.:; 12038 E

17.

20.

)
(a)

(b)

(b)

(a)

(b)

(i) Special allowance ~ ¥ 80 PM

(iv) Bonus-— ¥ 8,000

(v) Academic research allowance ~ ¥ 200 PM
(vi) Washing allowance — ¢ 100 PM

(vii) Facility of light and water (employer has
paid the amount) - ¥ 7,600

(viin) Salary of April 2021 received during the
current PY - 12,350

Or
Write the featurea of the Indian tax system.
From the following information calculata
income from house property of Mr, Kavin.
Municipal valuation 2 1,25,000 pa
Actual rent ¥ 1,25,000 pa
Municipal tax 2 4,000
The owner bear the following expenses
(i) Lift maintenance T 7,500
(ii) Gardener salary ¥ 2,500
(iii) Pump maintenance T 4,000

The owner pays 25% of the municipal
tax.

Or

What incomes are chargeable to income tax
u/s 56(2)?

Page6 Code No.:12038E

Adjustments :

(i) Hotel building additions were made
during December 2020.

(i) Plant and machinery additions were
made during February 2021.

Or

Explain the relationship between finance Act
and income tax Act.

Explain the different types of income tax
return forms.

Or

What is meant by agricultural income? How
tax computed on agricultural income?
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022,

Sixth Semester
Economics — Core
MACRO ECONOMICS — 11
(For those who joined in July 2017 onwards)
Maximum : 75 marks
PART A— (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

The extra labour for which the labourer receives

nothing is called as by Karl Marx.

(a) Surplusvalue (b) Surpluslabour

{¢) Capital (d) Net profit

According to Keynes unemployment is caused by
(a) low consumption

(b) deficiency of effective demand

(¢) population explosion

(d) all of these

Karl Marx rate of profit 'r' is

S- C
@ b iy

C S

= d
© \Y @ C+V
Marxism is against for
(a) Communism (b) Capitalism
(¢) Socialism (d) None

Expansionary monetary policy is adopted during

the peried of
(a) recession (b) inflation

(c) stagflation (d) peak

Important objective of macro economic policy
(a) Full employment

(b) Price stability

(¢) Economic growth

(d) All the above

Page3 Code No.: 10185 E

11.

12,

13.

Ricardo divided the economy into how many
sector?
() Two (h)  Three

(¢)  TFour (y Five

Induced investment is
(n)  Profit oriented (b))  Welfare oriented

(¢) Both (a) and (b) (d) None of these

According to Keynes one of the important
determinants of investment is

(a) marginal efficiency of capital

(b) marginal propensity to consume

(¢) average propensity to consume

(d) income

Keynes theory is applicable to

countries.

(a) underdeveloped

(b) developing

(¢) advanced capitalist
(d) all

Page2 Code No.: 10185 E

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) ' Rent is differential surplus earned by land -
Explain.
Or
(b) What are the assumptions of Ricardian
theory of distribution?
(a) State the relation between MEI and MEC.

Or

(h) How rate of interest determines the

investment?
(a) Write a note on inflatiomf;ry gap.

Or

multiplier? What are . its

(b) What is
assumptions?

(n) Compaye the Karl Marx ideas with modern

economists ideas.

Or

(b) What are the criticisms leveled against
Marxian economic ideas?

Page 4 Code No.: 10185 E
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15.

16.

18.

(a)

What is monetary policy? What are its
objectives?

Or

(b)  Write about '‘pump priming'.

PART C — (5 x 8= 40 marks)

Answer ALL questions choosing cither (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)
(a)

(b)

Critically evaluate Marxian theory of

distribution.
Or

Dis‘cuss the Kaldor's theory of distribution.

What is investment? Explain its types.

Or

Examine the determinants of investment.

Ixplain  the applicability of Keynes

economics to under developed countries.
Or

Explain  the Keynes notion of under

employment equilibrium.

Page5 Code No.:10185 E

19,

(a)

(b)

(a)

(b)

Critically evaluate the concept of surplus
value.

Or
Compare Karl Marx views with classical
economists views.

Analyse the role of fiscal policy in economic
growth.
Or

What are the instruments of monetary
policy? Explain their working.

Page 6 Code No.: 10185 &



(6 pages)

Code No.:10186 &

Time : Three hours

o

=1

10.

Sub. Code : SMEC 62

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Sixth Semester
FEconomiecs — Core
PUBLIC FINANCE — 11
(For those who joined in July 2017 onwards)
Maximum ; 76 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

‘National defense’ is an example of

(a) public goods (b) private goods
(¢) social goods (d) merit goods

Which among the following can not be satisﬁed
through the mechanism of the market?

(a) private wants (b) firm wants

(c) group wants (d) social wants

Which of the following is related to local finance?
(a) income tax

(b) agricultural income

(¢) watertax

(d) exportduty

Which one of the following is a source of revenue of
a municipal committee?
(a) Income tax () Octroi duty

(¢) Excise duty (d) Foreign assistance

The 15% finance commission is headed by
Reddy
N.K. Singh

(a) N.XKP. Salve (b)
(¢y Santhanam (d)

The finance commission is constituted by the
(a) Prime Minister

(b) President

“ (¢) Finance Minister

(d) Speaker

Page3 Code No.: 10186 E

11.

12.

18.

14.

Who 1s known as the Father of zero-base budget?
(n) MHilton young  (b) Peter A. Phyrr

(c) Thatcher (d) Reagan

Budget is the main instrument of

(ny Tiseal policy

(hy Monetary policy

(¢) JEconomie policy

(d) Export policy

Which is the main objective of fiscal policy In
developing countries?

(a) controlling inflation

(b) price stability

(¢) full employment

(d) equitable distributor

Which deficit is more in India?
(a) Revenue deficit

(b) Budgetary deficit

(¢) Fiscal deficit

(d) Prima;y deficit

Page 2 Code No.: 10186 E

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.
(a) Define public goods and specify its features.

Or
(b) Write a note on pure and partial public
goods.
(a) What are the features of =zero base
budgeting?
Or

(b) Brief the structure of government of budget.

(a) Define fiscal indicate its

instruments,

policy and

Or
(b)  Write a note on modern fiscal policy.
(a) Define local finance and specify its structure.

Or
(b) Narrate the problems of local bodies in India.

. Page4 Code No.: 10186 E
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15, (a)

()

What  nare the finance

commission”?

funetions  of

Oy
Narrate the problems of foderal finance.

PART C — (5 « 8 = 40 marks)

Answer ALL questions choosing cither (a) or (b).
Each answer should not exceed 600 words,

16, {(a)
(b)
17. (@)
(b)
18. (a)
(b)

Aecount the reasons for the failure of market
ceonomy.,

Or

Distinguish  between

private goods.

public goods and

Explain the classification of budget.

Or

Analyse the central governments current
vear budget.

Narrate the objectives of fiscal policy.

Or
Examine the role of fiscal policy in a

developing country like India.

Page 5 Code No.:10186 E

19,

20,

(n)

(h)

(a)

(h)

Diatinguish hetween state finance and loeal
[inanco,

Or
Digcusa the aources of revenue of Iocal
bodies,

[ixplain the proeedure and powers of the
finance commission,

Or

Discusa the major recommendations of the
154 finance commission.

Page 6 Code No.:10186 E



(6 pages) Reg. No.: ...

Code No. : 10187 E Suh. Code : SMEC 63

BA(CBCS) DEGREE EXAMINATION,
NOVEMBER 2022,

Sixth Semester
Economics — Core
MONEY AND BANKING — I1

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

10.

PART A — (10 x 1 = 10 marks)

Answer ALL questions,

Choose the correct answer :

Which country is the organization of the unit
banking system?

(a) India (b) Germany
() England (d) America

Commercial banking system in India is
(a) Mixed banking (b) Unit banking
(c) Branch banking (d) None of the above

The objective of monetary policy is
(a) Price stability

(b) Full employment

(¢) Exchange rate stability

(d) All the above

At present bank rate is fixed by
(a) Finance miniatry

(b) Commerce ministry

(¢) Monetary policy committee

(d) Central government

ATM card is invented by
(a) Bill gates (b) Keynes
(c) Sweezy (d) John Shephard Barron

Which is considered as modern banking?
(a) Merchant banking
(b) Mogbile banking
(¢) Debit cards
(d) Saving cards
Page3 Code No.:10187E

11.

12.

13

14.

Banks aceept

(a)
(h)
(c)
(d)

Current account deposits

Fixed aceount deposits

Saving account deposits

All the above

14 major commercial banks was nationalized in

the yvear

(a) 1934 (b) 1947

() 1967 (d) 1969

Which of the following function is not of a central
bank?

(a)  Acting as a lender of the last resort

(b)  Accepting deposits from the public

()  Acting as a controller of credit

(d) Acting as custodian of foreign

The reserve bank of India was established in the
year

fa) 1929 ) 1935

© 1933 @ 1947

Page2 Code No.: 10187 E

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

)
(a)

(b)

Specify the merits of unit banking.
Or

What are the demerits of unit banking?

Account the reasons for naturalisation of
commercial banks,

Or

Brief the role of commercial banks in a
developing country.

Summarize the functions of RBL.

Or
Write a note on the origin of central banking.
What are the instruments of monetary
policy?

Or

Give an account of monetary policy
committee

Page 4 Code No.:10187 E
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e

ey

®) Define medern baunking and  state A8 19, (u)  Narrate the objectives of monetary policy.

features,
) Or

Qv (h)  Examine the role of monetary policy in a

v 9 ? ¢ i
B What are the advantages of mobile panking: developing economy.

PART C — (5 x 8 = 40 marks) 20. (a) Brief the functions of modern banking,

Or

Auvswer ALL guestions choesing either (a) or (b).
(b) Discuss the ndvantages of E-banking.

Each answer should not exceed 600 words,

) Discuss the types of banking.

Or

&) Explam the merits and demerits of branch
banking.

(&) Analvse the functions of commercial banks.

Or
(1) Explain the process of credit creation by

commercial banks.

(&) Explain the functions of central bank.

Or

(b} Discuss the guantitative methods of credit
control.
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Sixth Semester
Economics — Core
INDIAN ECONOMY —1II
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. weafllseer ppasar Syl flaw fafling
(=) Spen euenéd L mismer aré@ailsse
() 2L6 (r_r)susbr.mgglasmerr 3|l G&6
(@) sdell grsms 2iflsfssd

() Cuhaadlu ojenearésh



&

Human eapital formation can be accelerated by
(n)  promoting skill development programmes
(h)  providing health facilities

(¢)  enhancing educational standards

(d) all the above

wallgeuar apgd GameLim L sjaflgseirt
(o) T W @ebei ())  Sebre
(e snapGaideae () 9w

Tuman capital theory is given by
(a) T W Schultz (b) Keynes

(¢) Samuelson (d) Pigou

ppsaih @ehE s Lty edladdang
() Qunerigmy euaniréd

() Gurmarigny aparGearppid

1) wellgeien perGembmib

() Giop salus Dieneggb

Page 2 Code No.:10188 B

T —

4.

(<11

Capital occupies an important position in the
process of

(a) KEconomie growth
(b)  Economic development

(¢) Human resource development

(d)  All the above

Quimgperngmy auaTiESenw @ seir epaid o_emry (1pig.u|b
(@) asar Srd clfgsmns oafssd

(<) spemgaw fleurs@sd

(@) Gamfidopiu wrhp UssrEsD

(rr)  Gopsmdin esginh

IEconomic growth can be felt through

(a) Increasing rate of capital formation

(b) Widening of market

(¢) Innovation of technological change

(d) All the above

GQpdluredler  sjamenn  srwsdd ops  se@pulen
usailvy oiflsNsg eumRarpg 2

(<) Gsmflagemp

(@) GCoeveusar (FF)

(=) QeuermefTanid

Cupeami enarggIb
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-1

Which sectors contribution to national income is
increasing in India in recent year?
(a)  Agriculture (b) Industry

(¢) Services (d) All the above

Qurgs Geélw 2 pusfle Gemeus gsienpufles LIk
(=) 20 #5605D () 26 §56i5WD
@) 54 szeishd (m) 60 sseisb
The contribution of service sector to GDP is

(a) 20 percent (b) 26 percent

(c) 54 percent (d) 60 percent

@pfunelen sanaflu Guyg  psdilgear  wWaw
tpeaLh ’
(=) Qiorfl&wen (<2p) goLILmEn

&) @szsred (M) <Quwilssr

The largest source of foreign direct investment in
India is from

(a) Mauritius (b) dJapan

{¢) TItaly (dy USA

Page 4 Code No.:10188 B
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GenaumueTedpIeT o1 2 suDrEdlen @OluiLde?
(=) soLwupD @néGLS

(<) seoLwpp (psd GuEsD

(@) s wpp Csmpldn b

(m  wrhmels Hlaes s

Which is not an indicator of globalisation?

(a) Unrestricted imports

(b) Free capital movement

(¢) Free movement of technology

(d) Exchange rate stability

@pdHwureller srliy uaTsEHaETen STyed
(&) Quirgé Qewa| S Lkisar

(<2) umrm?eisa;\.b

@ srfue Hf

() Cuhsaflu siearss b

The cause of black money in India is

(a) public expenditure programme

(b) inflation

(¢) political finance

(d) all the above
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10,

11

et L fess W p iy et lefdaiani pirer

()

(@)

(<o) manbLif 8 2016
() meubai 9, 2018

meuthum 8, 2015

weutbuir 9, 2017

Demonetisation of currencies was announced on

(1)
(b
(e)
(d)

November 8,

November 8,

2015
2016
2017
2018

November 9,

November 9,

PART B — (5 x 5 = 25 marks)

:\1‘15\\'01- ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

)

‘weflpauar apad’ aa Uiy i eNens e,
IExplain the concept '"Human capital',

) Or
weflzaier gpaadlen GG GUILIEEDETT Gvf)I 1515565 5.
Brief the forms of human capital.

[alzitaag
chleréea

B (e &g & fles apsdlugmarsens

Explain the imporlance of capital formation.
Or

S sdlumaid L
Epgluneild  apogar o peurdsd  Gameuns

Bl erem?
Why capital formation is low in Indig?
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13.
14.
15.

(<2h)

(<)

(<=1)

(=)

Gpfluralcr Gaeneup genpuilen Slener genpaer
upf GHlus s6Hs.

Give an account of sub-sector of service
sector in India.

Or

gemafiu  euranflugdled
utiflener &mIkI&S 5556

Geoaugs genpuller

Brief the role of service sector in foreign
trade.

2 WEWGENS auenfWmISS!, SHSENT
apllipsamarsd GHUNHS.

Define globalisation and state its indicators.

Or

o @sbwnTsdlar  Sp @pSwumeila  Caime
Hlenevenw eflardge.

" Explain the employment situation in India

under globalisation.
SMILL| Leamgglar eflenareyseners &(ma.
Specify the effects of Black Money.

Or
MELIT GDDBISET UDds @GOl eT(psis.

Write a note on cyber crime.
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PART C— (B« 8= 40 marlks)

Answer ALL questions choosing either (n).or (b).
Fach answer should not exceed 600 words.

16 <5
17 (<)
(=)

Qumgrermamy apenGaiphmddlé

sl undlemen ayilis.

wailsaa

Examine the role of human capital in

ceonomic development.

Or

nallseuer  gpeoo  gien®dan  smaflsamenr
eflardss.

Account the factors affecting Human Capital.

QurmeTETy apentGenhmsHled (LpeOSET

e reunsesdlen apsEWSSHIISMS UG,
Analyse the significance of capital formation
in economic development.

Or

wmaflgauer 2 (HEUTESEMS

snrerflaemer g uis.

SirorafdEh

Examine the factors Influencing capital

formation.
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19.

(<)

(<21)

Glewigs )

@ Hluaralild
umf Gem wHOGE Qe

Caenaug  grenmpullen

Make an assessment of the performance of

service sector in India.

Or

Crameus gienpuid Qsmflaomusfear urkidenen
afleurd).

Discuss the role of technology in service
sector.
ApHuimreidd 2 swwESlen srésiams s,

Ixamine the impact of globalisation on
India.

Or

@pfureld wmeanallu epsdar  auartsdenw
afleumd).

Discuss the growth of foreign investment in

india.
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20,

LB D] (DTt SO T S ENGTTULD,
alevenamenani i eflermdas.

Account the causes and effeets of corruption.
Or

(o) @ isflu (Jll..mQg,mn;grrr_r;},ﬁﬁb vierr  Gmm @
WAL LD @@ HNSE Guriss,

Make an assessment of demonetisation on
Indian cconomy.,
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.

Second Semester
Economics — Elective
COMPUTER APPLICATIONS IN ECONOMICS
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :
1.  Which is an example of a function in Excel?
(a) =add (Al:A2)
(b) =sum (Al:A2)
(c) =Al1+A2

(d Al+A2



Which one of the following is an input device?

(a) Speaker (b) Monitor

(¢) Keyboard (d) None

SPSS stands for ——

(a) Statistical Package for the Social Sciences

(b) Statistical Programme for the Social Sciences

(¢) Standard Programme for the Social Sciences

(d) None of the above
R%2isa

(a) Statistical Software
(b) Engineering Software
(¢) Medical Software

(d) Business Software

used to read in data that are in an
SPPS data file.

(a) getdata (b) data list
(c) getfile (d) list

Page 2 Code No. : 5401



How many columns in variable view of the data
editor?

(a) 10 (b) 8
() 7 (d) 12
ANOVA stands for

(a) Android of Variance
(b) Analysis of Variable
(¢) Analysis of Variance

(d) None of the above

Student ‘t’ test was developed by
(a) W.S. Gosset (b) Spearman
(¢) Karl Pearson (d) Kelly
are used to track changes over short
and long periods of time.
(a) Line graph (b) Pie chart
(¢) Bar chart (d) None

Who has developed this formula?
(a) Spearman (b) Hicks
(¢) Fisher (d) None
Page 3 Code No. : 5401



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What is the use of Get file and Save out file?
Or

How do you process data using Excel?

What is data edition?
Or

How will you read a database?

How do you define a variable in SPSS file?
Or
Give a brief note on Data List.

Explain in detail about preparation of cross

tabulation.
Or
Explain the different types of correlation in

detail.

Page 4 Code No. : 5401
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15. (a) Write short note on Histogram.
Or

(b) Briefly explain transfer of data display
formats in detail.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) List out and explain the components
available in Menus, Tool bars and Dialog

boxes.
Or
(b) How do you Export and Import a data file in
SPSS?
17. (a) Describe the basic structure of SPSS data
file.
Or
(b) How will you read text and spread sheet
data?

18. (a) What is Code Book? How will you prepare use
it in SPSS file?

Or

(b) Write short note on Begin Data and End Data
Commands.
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19.

20.

(a)

(b)

(a)

(b)

Why do we use ANOVA? Explain it.
Or

Explain the applications of Chi-square test in
hypothesis testing.
Write short note on the following :
(1) Creating and Editing Graphs
(1) Interpretation of Output.
Or

How do you prepare Charts? Explain the
different types of Charts in detail.
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LABOUR ECONOMICS
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: Three hours

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

“The worker has no reserve price” — Said by
(a) Karl Marx (b Erich Roll
(¢) Engles (d) - Stalin

If the value of marginal product of labour exceeds
the wages then employing another worker

{a) Increases profit

(b) Increases marginal product of labour

{¢) Cuts cost

(d) Increases value of marginal product of labour

~~~~~~~~~~~~~ is the projection furnished by the
society to its members.

(a) Public services

(b) Social security

(¢) - Finance

{(d)  Personal preference

Who is the chairman of second national
»cemmission on labour?

(a) Gajendragadkar (b) Mahalanobis

7

{¢) R.S.Sharma {(d) Ravindra Varma
When was the second national commission on
labour’s report was submitted and to whom

(a) 199Y - vajpayee

(b) 1999 — Narasimha Rao

(¢) 2002 - vajpayec

(d) 2002 — Narasimha Rao

Page 3 Code No. : 8221

(1

11.

12.

14.

Who developed the concept of disguised
unemployment?
(&) J.M. Keynes (b) Amartya sen

(¢  John Robinson {(d) Alfred Marshall

In which type of unemplevment do the marginal

productivity of worker is zero?

(a) Disguised (b) Structural
(¢} Seasonal (d) None of these

The minimum wages Act was passed in the year
() 1946 (by 1948

(¢ 1958 (dy 1968

Amount of money received by the labourer is
called as

(a) Nominal wages (by Real wages

(¢) TFair wages (d) Basic wages

The industrial dispute Act was enacted in the year

(a) 1947 , (by 1957
© 1927 @ 1917
Page 2 Code No. : 8221

PART B — (5 X 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Kach answer should not exceed 250 words.

{a) Mention the problems faced by labour
market in India.

Or
(b) State the features of labour market.

(a) Differentiate
underemployment.

unemployment and

Or
() Give short notes on :
(1)  Structural unemployment
(ii) Frictional unemployment.

(a)  State the objectives of wage policy.

Or

()  Mention the suggestions to improve the
socio-economic position of the agricultural
labourer.

(a) What is social security?

Or

(b)  Define bonus. :

Code No. : 8221
[P.T.0O]
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15, (&)

(b)

Give a brief note on -
(1)  Social assistance

(i1)  Social insurance.

Or

Give reasons for discrimination of wages.

PART C — (5 X 8 = 40 marks)

Answer ALL guestions, choosing either (a) or (b).

FEach answer should not exceed 600 words.

16, {(a)
(b)
7. (a)
(b)

"The supply curve of labour for an individus}
worker is first upward rising and thexn

backward bending” - discuss.

Or

Elucidate the factors determining labour

market.

Suggest  your own ideas to  cure

unemployment in an economy.

. Or

Analyse the measures taken by the govt. i
improve agricultural labourers.

Page b

Code No. : 8221

18.  (a)
(b)
19. (a)
(b)
20. (a)
(b)

State different methods to regulate wages.

Or

Give a brief account on the number of
developmental initiatives of the 11¥ plan
approach.

“Absenteeism is a chronic disease amongst
the workers”. Cemment and Suggest
measures to control it.

Or

Explain the remedial measures to settle
industrial disputes.

Explain, how social security measures
improve the welfare of labour in India.

Or

Elucidate the reforms of labour market.

Page 6 Code No. : 8221
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Health economics decision ~ making concerns

de No. : 8224 Sub. Code : PESM 44 (@)  Equity (b)  Efficiency
(¢} Both (a) and (b) {(d) None of these

A. (CBCS) DEGREE EXAMINATION, APRIL 2022

3. Children with no insurance receive health care
Fourth Semester 1
) through a program called
Economics — Core

HEALTH ECONOMICS () Ss8P (b)  SCHIP
(For those who joined in July 2017 onwards) () MCHB (d) Medicare
‘e : Three hours : Maximum : 75 marks 4. Which of the following is not a direct medical care
PART A — (10 x 1 = 10 marks) factor?
Answer ALL questions. (a) Information techno]ogy

= )
cige
Choose the correct answer : {by Exercis |

3 lC .(A e
The benefits associated with the best alternative (© g
use of resources is called . @) Diet

{a) Health economics

it

- The national health accounts are associated with
(b) Alternative activities

{c) Health resources

{a) CMS (b) NIOSH
(d) Opportunity cost
{¢y NICHSR (d) All of the above
Page 2 Code No. : 8224
W o ) _ _ g. Which of the foﬂowihg occupations accounts for
The Variability in the quality of public health the highest percentage of workers in the NHS?
economic  evaluation studies is net  well ) Doctors ®) Ambulance staff

documented”. Say whether this statement is
(c;  Technical staff (d) - Nurses

(a) True

b)  Fal i0.  Which of the following is the major source of
(b) alse financing of healtheare in India?

(¢)  Can’t say definitely (a) Ministry of health

(d) None of these (o) Central government budget

(¢}  State government budget
(d} None of these

Cost benefit analysis can be measured either
within the ————— or across other sectors of the

economy. _ PART B — (5 x 5 = 25 marks)

(a) Information sector g

@) Answer ALL questions, choosing either (a) or (b).

®b) Insurance sector
Each answer should not exceed 250 words.

¢) Health care sector '

o " 11.. (a) Define health e ics.
d) Technical sector @ ehne hiealth economics

Or

Che benefits associated with the best éiternative ) : o
(o) What are health indicators?

1se of resource is called

oo

(a) What do you know about traditional
medicine? Give examples.

a) Health resource 1

b)  Opportunity cost
Or

(b) Mention the functions of PHCs.

)  Health economics
1) Alternative activities
| Page 4 Code No. : 8224
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13. (a) What do you think about spatial distribution

of health care facilities?

Or

(b) State the role of pharmaceutical companies.

Analyse the role of family plannirg projects
in relation to public health.

4. (a)

Or

(b) Describe the essential health services.

Narrate the need for general health
insurance.

Or

(b) State the sources of revenue for health.

PART C — (b x 8 = 40 marks}
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Explain the role of health in economic

development.

Or

(b) Elaborate the various input and output
heaith indicators.

Page 5 Code No. : 8224

18,

19.

(@)

)

(a)

(b)

Elucidate the measures taken by the
government to improve public health.

Or

Describe Indian national health policy.

Analyse the reasons for the failure of market

to provide essential health services.

Or
Explain the role of health in the development

of the economy.

State and analyse the role of physician in
maintaining health.

Or
Explain the role of TRIPS in health care

activities.

Critically examine the role of financing
institutions in financing health services.

Or

“Special insurance is needed for the disabled
and poor” : Examine.

Page 6 Code No. : 8224
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Code No. : 5260 Sub. Code : ZESE 11

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022

First Semester
Economics
Elective - WELFARE ECONOMICS

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

=

10.

PART A — (10 % 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
Most commonly, the term —— refers to
an individuals opinion
(a) Value judgement
(b) Value
{c¢) Value Neutral
(d) Neutral

The basic idea we use is the notion of a
competitive economy

(a) Third (b) Second
(¢) First (d) Fourth

Competitive equilibrium is pareto efficient if

(a) One firm is 2 monopolist

(b) Lump-sum taxes are imposed

(¢) There are externalities

(d) Per unit taxes are imposed

The process of transferring purchasing power from
tax payers to the taxing authority

(a) Welfare loss (b) Welfare valuation
(c) Welfare gain {(d) Welfare Estimation
The Scitovsky criterion does not solve the problem
arising from the ———— ¢riterion.

(a) Kaldor (b) Lionel

(¢) Cournot (d) Keynes

The concept of social welfare function was
propounded by

(a) Arrow (b) Bergson

(¢) Rawl (d) Keynes

Page 3 Code No. : 5260

= The welfare of the society depends upon the
satisfnetion levels of all ita

(n)  Producers (h) Clonaumers
(¢) Teachers (d) Bankers
J. A situation in which it is impossible to make
anyone better off without making someone
off
(n) Better (b) Clear
() Worse (d) Clean

4. Marginal condition for efficiency in the allocation
of factors among firms in

(a) Factory
(b) Industry
(¢ Consumption

(d) Production

5.  Since under — — competition every
consumer good must be equal to the ratio of their
prices.

(a) Oligopoly (b) Monopoly
(¢) Imperfect (d) Perfect
| Page 2 Code No. : 5260

PART B — (5 % 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
11. (a) State the term value judgement.
Or
(b) List out the assumptions of social.welfare.
12. (a) State Pareto optimality condition.
Or

(b) What are the four measures of consumer
surplus?

13. (a) How does resources optimally allocate under
Capitalism?

Or

(b) How does resources optimally allocate under
socialism?

14. (a) What do you mean by second best optima?
Or

(b) Define tax. State its merits and demerits.

Page 4 Code No. : 5260
[P.T.O.]



15.  (a)
welfare?

Or

(b) Define Utilitarian social welfare.

PART C — (5 x 8 = 40 marks)

20,

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Explain the concept of value judgement in

welfare economics.

Or

(b) Give a detailed explanation for positive and
normative economics in social welfare.

Critically analyse Kaldor-Hicks welfare

17. (a)
criterion.
Or
(b) Elucidate the possibility curve by

Samuelson’s utility with diagram.

Describe the views of Barone about socialism
as a welfare.

18. (a)

Or

(b) Relate pareto optimality with Monopoly.
Page 5 Code No. : 5260

What are the contributions of Sen’s aboul 19,

(a)

(b)
(a)

(b)

Critically examine the causes of divergence
between private and social cost with the
problems of Non-market interdependence.

Or
Expound cost-benefit Analysis.

Analyse Sen’s Paretian liberal theorem.

QOr

Spell out the Rawlsian social welfare
function.

Page 6 Code No. : 5260
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Code No. : 5260 Sub. Code : ZESE 11

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022

First Semester
Economics
Elective - WELFARE ECONOMICS

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

=

10.

PART A — (10 % 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
Most commonly, the term —— refers to
an individuals opinion
(a) Value judgement
(b) Value
{c¢) Value Neutral
(d) Neutral

The basic idea we use is the notion of a
competitive economy

(a) Third (b) Second
(¢) First (d) Fourth

Competitive equilibrium is pareto efficient if

(a) One firm is 2 monopolist

(b) Lump-sum taxes are imposed

(¢) There are externalities

(d) Per unit taxes are imposed

The process of transferring purchasing power from
tax payers to the taxing authority

(a) Welfare loss (b) Welfare valuation
(c) Welfare gain {(d) Welfare Estimation
The Scitovsky criterion does not solve the problem
arising from the ———— ¢riterion.

(a) Kaldor (b) Lionel

(¢) Cournot (d) Keynes

The concept of social welfare function was
propounded by

(a) Arrow (b) Bergson

(¢) Rawl (d) Keynes

Page 3 Code No. : 5260

= The welfare of the society depends upon the
satisfnetion levels of all ita

(n)  Producers (h) Clonaumers
(¢) Teachers (d) Bankers
J. A situation in which it is impossible to make
anyone better off without making someone
off
(n) Better (b) Clear
() Worse (d) Clean

4. Marginal condition for efficiency in the allocation
of factors among firms in

(a) Factory
(b) Industry
(¢ Consumption

(d) Production

5.  Since under — — competition every
consumer good must be equal to the ratio of their
prices.

(a) Oligopoly (b) Monopoly
(¢) Imperfect (d) Perfect
| Page 2 Code No. : 5260

PART B — (5 % 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
11. (a) State the term value judgement.
Or
(b) List out the assumptions of social.welfare.
12. (a) State Pareto optimality condition.
Or

(b) What are the four measures of consumer
surplus?

13. (a) How does resources optimally allocate under
Capitalism?

Or

(b) How does resources optimally allocate under
socialism?

14. (a) What do you mean by second best optima?
Or

(b) Define tax. State its merits and demerits.

Page 4 Code No. : 5260
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15.  (a)
welfare?

Or

(b) Define Utilitarian social welfare.

PART C — (5 x 8 = 40 marks)

20,

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Explain the concept of value judgement in

welfare economics.

Or

(b) Give a detailed explanation for positive and
normative economics in social welfare.

Critically analyse Kaldor-Hicks welfare

17. (a)
criterion.
Or
(b) Elucidate the possibility curve by

Samuelson’s utility with diagram.

Describe the views of Barone about socialism
as a welfare.

18. (a)

Or

(b) Relate pareto optimality with Monopoly.
Page 5 Code No. : 5260

What are the contributions of Sen’s aboul 19,

(a)

(b)
(a)

(b)

Critically examine the causes of divergence
between private and social cost with the
problems of Non-market interdependence.

Or
Expound cost-benefit Analysis.

Analyse Sen’s Paretian liberal theorem.

QOr

Spell out the Rawlsian social welfare
function.

Page 6 Code No. : 5260
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M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

First Semester

Economics

Elective — ENTREPRENEURIAL DEVELOPMENT

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

10.

PART A — (10 % 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
Which of these is the first activity of a new
business?
(a) Departure point
(b) Goal Orientation
(¢) Business skill development

(d) None of the above

Entrepreneurs are motivated by
(a) Money (b) Personal value
(¢) Full influences (d) All of the above

Which one is not element of not project appraisal
(a) Technical feasibility

(b) Network analysis

{¢) Economical viability

(d) Commercial viability

Profitability index shows benefits from the
proposal in

(a) Absolute terms (b) Relative terms

(c) Both of the above (d) None of these

SIDBI was sct up as a subsidiary of

(a) IDBI (b) IFCI
(c) ICIC (d) SFC
is the first development bank of the
country.
(a) ICIC (b) IDBI
() SFC ‘ (d) IFCI

Page 3 Code No. : 5261

11.

The process of creating something new is called:
(a) Creative flexibility (b) Management

(¢) Busincss (d) Innovation

Which could provide an individual with the
motivation to start a new business venture

(a) A financial reward

(b) A desire to be independent

(¢) Risk taking

(d) All the above

Why small business important to country economy

(a) They give outlet entrepreneur

(b) They can provide specialist support to large
company

(¢) They can be innovators for new product
(d) All of these

Primary data is

(a) The most important data

(b) The data that is collected first

(¢) New data specifically collected for a project
(d) Data that is collected second

Page 2 Code No. : 5261

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) What are the main functions of an

entrepreneur?
Or
(b) Explain  the Importance of women
enirepreneurs.

(1) What are the non-economic factors affecting
entrepreneurial growth?

Or

(b) What are ‘the needs for entrepreneurship
development?

(a) Whatis project and explain its significance?
Or

(b) What are the objectives of project? Explain,

(a) What is Project Appraisal? Explain its Steps.
Or

(b) What is a financial plan in entreprencurship?
Briefly explain.

Page 4 Code No. : 5261
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15, (n) Whnt nro the Objoctiven of Unit Iyunt of Indin
urn?

Or

. .\ " SYAl
(h) What nve the serviees providod by the SIDCO
to entreprencurs? Givo explain,

PART C — (b x 8 = 40 mnrkn)

Answer ALL questions, choosing either (1) or (b)
I8ach answor should not excoed 600 words.

16.  (a) Explain the importance of innovalion in
entreprencurship.

Or

(b) What are the recent trends of women
entreprencurship? Discuss,

17. (1) What are the factors
entreprencurs? Give the explain,

motivalion

Or

(b) What is an entreprencur ovaluate the
importance of learning entreprencurial akills?
Discuss.

Page 5 Code No. : 5261

18,

1),

20,

(11)

(b)

(n)

(h)

(n)

(h)

Wit in project selection in entreprencurship?
Fixplain,

Or
ISxplain - the  Guidelines  of  Planning
Comminnion's for Formulating Project Report.

Methaode of Project Appraisnl — Kxplained,

Or
What in export finance? Ixplain the Pre
Hhipment. ixport Finanee,

What nre the Role of commercinl bhunks in
Iintreprencurship Development? Fxplain
Or

What is  the role of 1CICI
entreprencurs? Give the explain.

financing

Page 6 Code No. : 5261



269 Reg No. & v s Basie managertal funtion o HRD oo
.ate No. : 8369 Sub. Code : ZESE 21 g (a)  Planning, organizing, staffing
_ (b) Planning, organizing, directing  and
(CBCS) DEGREE EXAMINATION , APRIL 2022 controlling
Second Semester {¢) Planning, organizing and co-ordinating
Economics : (d) Planning, organizing and managing

tive — HUMAN RESGURCE DEVELOPMENT 3. Which one of the following factors state the
For those who joined in July 2021 onwards) ( * importance of the HR planning?

Three hours Maximum : 75 marks (@) International strategies

PART A — (10 x 1 = 10 marks) (b)  Creating highly talented personnel

(¢)  Both (a) and (b)
(d) None of these

Answer ALL questions.

oose the correct answer - . ) . . . :
h 4, What is the major issue faced while doing

RM emphasis personnel planning?
¥o Swl

) Development of people (a) Types of people to be hired

P . ; : (b)  Multiple persons to be filled
unishment of people

() Types of information which should be used in

) Adoption of people making forecasts

) None of these | (d)  All of the above
Page 2 Code No. : 8369
ecruitment is the process of attracting potential 9. Industrial relation includes

1ployees to the company” — who said?

' Edwin.B.Flippo

(@) Labour legislations

t)) 'Collective bargaining

Dale.S.Beach () Industrial relations training
Dalton.E Mchaland (d)  All of the above

None of the above 10. Which of the following department has major
. _ . nterest in harmonious industrial relations?
uch of the following is not a test for the

ection of personnel? ' (@) HR (b)  Production
E‘- £ vz 311
Aptitude test (b) Medical test © rmance ~ @) wdrkd_} e
Intelligence test (d) Proficiency test PART B — (5 x 5 =25 marks)
ich one of the following is the ‘ON-the-job Answer ALL questions, choosing either (a) or (b).

. o . .
ning methods® Each answer should not exceed 250 words.

Vestibule trainin .
g 11. (@) What do you mean by the term HRD? What
Role playing are its aim?

Lecture method Or

Coaching (b) Mention the objectives of HRD.
refers to the learning opportunities ’ 12. (a) Define ManPower planning.
gned to help emplioyees the grow. o
r

Selecti b) Devel t

erection ) evelopmen (b)  Elucidate the benefits of MPP,
Education (d) Training

Page 3 Code No. : 8369 Page 4 Code No. : 8369
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13, (&)
()
14, {a)
(b)
15. (a)
()

Explain the sources of recruitment of
employees.

Or
Write a short note on:
(i) Qrientation

(i) Placement.

What is meant by revaluation of training
programme‘?

Or
State the objectives of performance appraisal
State the forms of collective bargaining.

Or

Mention the role of trade union to maintain
industrial relations.

PART C —(5px8=40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. . (a)

(b)

Analyse the various functions of HRD.

Or
Define HRD and explain its scope.

Code No. : 8369

Page b

i7.

20.

(a)

(a)

(b)
(a)

(b)

(a)

(b)

Elucidate the process of HRD.

Or

Discuss the various methods of training.

State and analyse the impact of HRD
programme.

Or

What is transactional anlaysis? Explain.

Define employee counseling. What are its
main features?

Or
Explain the uses faced while counselling the

employees.

State and explain the impact of globalization
on HRD.

Or

Give view on expatriate and vrepatriate
support and development.

Page 6 Code No. : 8369




lages)
2 > specific objective of DI 1
Reg. No. : w # The specific objective of DRDA is
: (2) implementation of health programme
\ . ‘ _— ‘
de No. : 8370 Sub. Code : ZESE 22 (b)  Providing water supply

(¢} Providing education
A. (CBCS) DEGREE EXAMINATION, APRIL, 2022 () Implementation of anti-poverty programime

Second Semester

3. What is the cut off line for rural poverty
Eeconomics measurement?
Elective — RURAL DEVELOPMENT (@) 2100 calorie (b) 2400 caloric
: : {c 2 ralorie 2900 calorie
(For those who Jjoined in July 2021 onwards) (©) 2700 calorie (d) 2900 calorie
" Three hours Maximum : 75 marks 4. The root cause of vicious cirele of poverty in India
. . [t C 1 .
18
)/A T A —— - « B a
PARTA — (10 x 1= 10 marks) (@)  low income of the people

{ QU
Answer ALL questions. ) low savings

() low consumption

Choose the correct answer - (d) low investment
It is a strategy designed to improve the economic 5. Miero finance approach was very successful in
and social life of rural poor is (a) India (b) Bangladesh
(a)  rural water supply (¢) Pakistan (d) China
(b)  rural electrification 6. The Panchayat Raj system covers the
©)  rural health (a) Village level (b)  Block level
d) all the above (¢}  District level (d)  All the above
Page 2 Code No. : 8370
'he Mahatma Gandhi National rural employment PART B — (5 x 5 = 25 marks)

ruarantee Act was passed in . . . . , .
Answer ALL questions, choosing cither (a) or (b).

) 1991 b 1996
®) ? Each answer should not exceed 250 words.
3 2000 d) 2005 S \
( 1. (a) What are the issues in rural development?
he IRDP was launched in India in ’ Or
v 1956 (b) 1967 (b)  Explain the concept of rural develepment.
Y 1978 @ 1991 12, (a) Enumerate the causes of rural poverty.
. « - . . ' Or
ne Sanitation campaign was launched by . .
(b) List out the importance of  rural
) Rajive Gandhi National Drinking Water industrialization.
) Mission Jal Jeevan Mission v 13. (a) Esxplain the role of NGO’s in the welfare of
rural people.
National Rural Health Mission
Or

'+ All'the above (b) -~ Examine the evolution of self help groups.

¢ second national population policy was 14. (a) Describe the development of women and

C children in rural arecas.
mulated in the year

1976 - ®) 1991 Or
_ (b) Explain the importance of arca development
1995 d) 2000 - programmes.
Page 3 Code No. : 8370 Page 4 Code No. : 8376
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-

)

g ' v la v H
15. (a) Explain the importance of rural health care

policy.
Or

What is meant by family welfare?

PART C — (h x 8=40 marks)

answer ALL questions, choosing either (a) or (b).

7“uch answer should not exceed 600 words.

6. (&)

(b
17 ()
(b)

Nescribe the different indicators of rurai

development.

Or

Explain the importance of rurai

development.

State the measures to remove Income

inequalities in India.

Or

Explain the various programimes
implemented by the government to increase

rural employment.

Code No. : 3370

Page b

(a)

(b)

(@)

(b)

(a)

(b)

Discuss the role played by NGO's in rural
development.

Or
Describe  the role of Panchayat Raj

institution on rural development.

Explain the various rvural development
programme implemented by the government
of India.

Or

Tixamine the role played by district rural
development agency on rural development 1n
India.

Suggest measures L0 improves the education
in rural India.

Or

Explain the national population policy.

Page 6 Code No. : 8370
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!
M.A. (CBCS) DEGREE&BXAMINATION,
NOVEMBER 2022. /,

Third Semester

; Economics  /
: /
Elect{ve — COMPUTER APP/&CATIONS IN
ECONOM19$

(For those who joined invﬁ uly 2021 onwards)

Time : Three }7urs

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer : ,
1.  In which view heade;s and footers are visible
(a) Normal view
(b) Page layout view
(¢) Print layout view -

(d) Draft view

,é;b. Code : 2SE 31

Maximum : 75 marks

(1]

Test — atyling features of MS Word is

(a) Word Art () Word Font

(¢y Word Color (d) Word Fill

Which type of chart is useful for comparing values
over categories?

(b)) Column chart

(d) Dot chart

(a) Pie chart

(¢) Line chart

Which function in Excel tells how many numeric
entries are there?

(2) Num (b) Count

(¢) Sum (d) Average

Another name for a pre-programme& formula in
Excel is -

(a) Cell (b) - Graph

(¢) Range (d) Function -

Which of the following Excel charts represents o
only one value for each variable?

(a) Pie (b) Bar
(c) Line ' (d) Function

Page 2 Code No. : 5272



7. A formula in Excel always begins with an

(a) Colon (b) Comma
(c)‘ Equal sigh (d) Space
8. Repeats the last command or action
(a) Ctrl+C (b) Ctrl+R
() Ctrl+U (d) Ctrl+Y

9.  # value refers to
(a) Font value
(b) Error in value
(¢) Subscript of the_number value
(d) Addition of value

10.- What is the value of the following MS Excel
function? = FLOOR (14, 4)

(a) 10 ®) 13
(c) 14 ) 12
PART B — (5 x 5 =25 marks) ~

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Explain the main features of word documents.

Or

(b) How to create a template in Word documents?

Page 3 Code No. : 5272

12

13.

14.

(a)

(b)

(a)

(b

(a)

(b)

(a)

(b)

What are the components of MS-Excel?

Or

Define MS Excel and explain its basic
formulars.

How to draw a greater than and less than
Ogive curves?

Or

Write a short notes on line graph? How to
make a line graph in Excel?

Where is descriptive statistics in Excel? What

are the types and explain?

Or

Write the benefits of T-Test and Hypothesis
testing.

How to Decompose Time-Series Data into
Trend and seasonality?

Or

Explain the Binomial test in Excel.

Page 4 Code No. : 5272
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PART C— (31 8= 40 marka)

Answer ALL questions chovaing etther (@) or (W)

RN

Wach auswer showld not axcead BOO wonds,

(b)

. o

Doy exglain sbout the usos of ME8-Wond,

Hew 0 make & tables tn MEWond? Explain

Explain  the Arithmetic and  relstional

Writs the steps to formatting eell in Excel.

n;

Explain sbout Histogram and how to create g

3
[
:'/.'
¢

SR 3
ristofram

>
’

Explain the correlaticn and its functions in
Excel
Or

Brieflr explain the ene-way ANOVA,
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SO @) Byplin the Kanenns clustor,

Or

W Graphieally oxplain the chi-squanre test with

oxample,
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Code No. : 5256 Sub. Code : ZESM 11

M.A (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
First Semester
Economics — Core
ADVANCED MICRO ECONOMIC THEORY -1
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 756 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer

1. The Linear Expenditure system was introduced by

(a) Stone (b) Stephcn

(¢) Baumol (d) Keynes

2. Revealed Preference theory assumes
(a) Weak ordering (b) Strong ordering

(¢) Multiple ordering (d) Constant ordering

Ct

6.

" () Unity

In case of short-run production function the factor-

ratio remains
(a) Constant (b) Variable

(¢) Either (a) or (k) (d) None of these

In CES production function, the elasticity of
substitution is
(a) Zero (b) Constant

(@) Negati—ve

The minimum price which can be bounded by
product cost is also known as

(a) Price floor (b) Price fixaticn

(¢) Price ceiling (d) Basic price

Which is an essential factor in the pricing policy?

(a) Cost of a product

() Product Differentiation

“(¢) TProduct demand

(d) Marketing Mix

Page 2 Code No. : 5256



10.

Cartel is a form of

(a) Trade Association

(b) Chamber of Commerce
(¢) Federation

(d) None of these

Which type of market is the stackelberg model?

(a) Duopoly (b) Monopoly

(¢) Oligopoly (d) None of these

Which of the following is the first order conditions
of Profit maximisation.
(a) AR=AC (b) MR =MC

(¢ TR=TC (d) MR=AR

‘Contribution of margin is marginal costing s also

known as
(a) Gross profit (b) Net profit

(c) Average income (d) Marginal income

Page 3 Code No. : 5256

11.

12.

13.

14,

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b),

each answer should not exceed 250 words.

(a) Bring out the assumptions of Revealed
Preference theory.

Or-
(b) What is the conclusion of theory of demand?

(a) Examine the constant elasticity of demand

model.
Or
(b) Explain the technical progress with a
diagram.

(a) State the features of perfect competitive
market.

Or
(b) Mention the features of Monopoly market.

(a) Ixplain Sweezy's kinked demand curve model
of Oligopoly. .

Or
(b) Explain Chamberlin’s model of Duopoly.

Code No. : 5256
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15. (a)

(b)

State the Andrew's version of cost-plus
pricing. .

Or S
Write a note on Embodied technical progress.

PART C — (5 x 8 = 40 marks)

Answer ALL questions by choosing either (a) or (b).
Each answer should not exceed 600 words.

.16. (a)
(®)
" 17. (a)
()
18. (a)
(b)

Critically . examine Linear Expenditure
system.

. Or
Spell out the Lancaster’s theory.
Explain the C-D production function and its

properties.

Or i
What is Technical Progress? Expléin
embodied and disembodied technical progress.

How are price and output determined under
perfectly competitive market?

Or

Analyse the short-run and long-run
equilibrium of -a- firm under monopolistic
competition.

Page5  Code No.: 5256

19,

20.

(a) Criticise Bertrand’s duopoly model.

Or . =
(b) Narrate Chamberlin’s Excess capacity.
(a) Elucidate Sylos-Labini model of limit pricing.

Or
(b)  Explain Bain’s limit pricing theory.
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Code No. : 5257 Sub. Code : ZESM 12

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

First Semester
Economics — Core
MACRO ECONOMIC THEORY AND ANALYSIS - I

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL the questions.

Choose the correct answer:
1. The term social accounting was first introduced in

economics by

(a) J.R. Hicks

(b A.C. Pigou

(¢) D.H. Robertson

(d) Adam Smith

Which of the following can be considered a leakage
from the circular flow of economic activity?

(a) Investment

(b) Government expenditure
() Consumption

(d) Saving

The life cycle hypothesis views savings as
resulting mainly from individuals desire to provide

for consumption in

(a) Recession () War time

(¢) Inflation (d) Old age

According to which of the following hypothesis,
consumption is irreversible?

(a) Absolute income hypothesis

(b) Relative income hypothesis

(¢) . Permanent income hypothesis

(d) Life cycle hypothesis

Keynes description of the whimsical investment
altitudes of entrepreneurs, sometimes optimistic,
sometimes pessimistic is called

(8) Optimal decision making
(b) Animal spirits

(¢) Rationality behaviour

(d) Ideal solution
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A rise in Tobins q rates is supposed to lead to a
rise in

(a) Consumption expenditure

(b) Investment expenditure

(¢) Government expenditure

(d) Netexport

“There is always a temporary trade-off between

inflation and unemployment; there is no
permanent trade-off’ This is the remark of

(a) Keynes (b) Phillips

(¢) Friedman (d) Tobin

As per the hypothesis of rational expectations, in
guessing the future, economic agents

(a) Are always right

(b) Are always wrong

(¢) Make systematic errors

(d) Make random errors

In real business cycle theory, fluctuations in the
aggregate variables result from

(a) Technology shocks

(b) Tax policy

(¢) Debt policy

(d) Excess growth in money supply

Page 3 Code No. : 52567

10.  The real business eycle theory is associated with

()
(b)
(©)
(d)

J.R. Hicks
1aw trey
Schumpeter

Kydland and Prescott

PART B — (56 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Fach answer should not exceed 250 words.

11, (a)
Q)
12, (0)
(b)
13. (a)
(b)

Explain the concept ‘Social accounting’.

Or
Brief any four basic macro economics
concepts.
State and explain Keynes Psychological Law
of Consumption.

Or
Give the essence of Life cycle hypothesis of
consumption.
Brief the relation between Marginal
Efficiency of capital and rate of interest.

Or

Give an account of Tobins q theory.

Page 4 Code No. : 5257
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14. (a)
(b)
15. (a)
(b)

Explain the structuralist theory of inflation.
Or
Suggest policies to control inflation.
Analyse the role of money in Real business
cycle theory.
Or
Write a note on stabilization policy and

unemployment.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)

Explain the process of circular flow of income
in a four-sector economy.

Or
Summarize the different forms of National
income accounting.

List the determinants of consumption
function.

Or

Examine the Relative income hypothesis of
consumption.

Page 5 Code No. : 5257

18.

19.

20.

(b)

(a)

(b)

(a)

(b)

Narrate the factors affecting the Marginal
efficiency of capital.

Or
Narrate the criticism levelled against the
MEC of Keynes.

Discuss the Phillips curve in the short-run
and long-rumn.
Or

Analyse the basic propositions of Rational
expectations hypothesis.

Explain Real business cycle theory and
specify its policy implications.

Or -
Expose the source of productivity shocks in
Real business cycle theory.
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Code No.: 5258 Sub. Code: ZESM 13

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
First Semester
Economics — Core
STATISTICAL METHODS
(For those whe joined in July 2021 onwards)

Time : Three hours Maxiraum : 75 marks

PART A — (10 x- 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Find the coefficient of correlation if the two

regression coefficients are 0.5 and .1.5
(@ 2 (b) 0.75

© 1 (d) 0.87

Who introduced the term regression?

(a) XKarl Pearson

(b) R.A Fischer

(c) Croxton and Cowden

(d) Francis Galton

What is the probability of getting an even number
when a die is dossed?

(a) 1/2 by 1/3

© U4 @) 16

The standard deviation of Binomial distribution is

(a) vnpg (b) npg
(© np (&) np

Increasing the sample size has the following effect

upon the sampling error?

(a) It increases the sampling error

(b) It reduces the sampling error

{(¢) Tt has no effect on the sampling error

(d) It may increase or decrease the sampling error
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In systematic sampling, population is 240 and
sample size is 60, then sampling interval is

(a) 180 ®) 4
(c) 0.25 : (@ 300

If the critical region is evenly distributed, then the
test is referred as

(a) Ztest . (b) Two-tailed test
(c) t-test (d) ;(2

Type 1l error is committed by
- (a) rejecting the null hypothesis when it is true

(b) not rejecting the null hypothesis when it is
true

(¢) rejecting the null hypothesis when it is false
(d) not rejecting the null hypothesis when it is
false

Analysis of Variance is a statistical method of
comparing the ———— of several
populations.

(a) Means

(b) Variances

(¢) Standard Deviations.
(d) All the above

Page 3 Code No. : 5258

10. The test to be applied when the number of
observations is less than 30 and the poﬁulation
standard deviation is not known, is said to be

(a) t-test (b) Z test
() T test (d) Chi-square test
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) The following results were worked out from
the scores in Statistics and Mathematics in a
certain examination.

Scores in Statistics ~ Scores in Mathematics
&) ®
Mean 39.5 47.6
Standard 10.8 17.8
Deviation

Karl Pearson’s correlation coefficient between
X and Y = — 0.42. Find both the regression
lines.

Or
(b) Explain the types of correlation with example.

Page 4 Code No. : 5258
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12. (a)
(b)

13. (a)
(b)

14 (a)
(b)

15. (a)

Describe Bayes' Theorem of probability with

an example,

Or

The probability that a boy wili gét a
scholarship is 0.90 and that a girl will get is
0.80. What is the probability that atleast one
of them will get the scholarship?

Describe Sampling Distribution.
Or

Discuss the merits and demerits of sampling
techniques.

Explain the procedure generally followed in
testing of a hypothesis.

Or
Differentiate the following pairs of concepts:

(i) Statistic and Parameter

(i1) Null and Alternate hypothesis

(iii) Critical region and Acceptance Region.

What is  t-distribution? Explain its
applications in testing the hypothesis.
Or
Page 5 Code No. : 5258

(b) From the following data find out whether
there is any relationship between gender and
preference for colour. (Given for

v=2 7" =005=5.991)
Colour Male Female Total
Green 40 60 100
White 35 25 60
Yellow 25 15 40
Total 100 100 200

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a) Calculate the rank correlation coefficient from
the following data:

X 8 78 75 75 68 67 60 59
Y 12 13 14 14 14 16 15 17

Or

(b) Calculate the regression equation of X on Y
and Y on X from the following data and
estimate X when Y =100.

X 42 44 58 55 89 98 6656
Y 56 49 53 58 65 76 58
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- 17.

18.

19.

(a)

(b)

()

(b)

(a)

(b)

Explain with examples the rules of addition
and multiplication in the theory of probability.

Or

Discuss why Poisson distribution is used
widely in Statistics?

Describe the different methods of random
sampling.

Or

Discuss the various sources of errors in a
sample survey. And explain how these errors

can be controlled.
Explain the concepts of
(i) Level of significance and

(ii) Type I and Type II errors

- Or

Explain the one-tailed and two tailed-tests
with a suitable diagram.

Page 7 Code No. : 5258

20).

{a) The sales of data of an item in six shops before
and after a special promotional campaign are
as under.

A B C D E F
53 28 31 48 50 42
58 29 30 55 56 45

Shops
Before Campaign
After Campaign

Can the campaign be judged to be a success? Test
at 5% level of significance. (For v =5. toos = 2.57)

Or

(b) From the data given below test the hypothesis
that the sample means are equal. The three
samples have been obtained from normal
populations with equal variance. The table
value of Iy at v = 2and v, = 12is 3.88.

X1 X2 X3
3 7T 12
10 5 9
7 10 13
14 9 12
11 9 14
Page 8 Code No. : 5258



(6 pages) Reg. NO. ¢ oot

Code No. : 5259 Sub. Code : ZESM 14

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022. .

First Semester
Economics — Core
INTERNATIONAL ECONOMICS

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
1. Technological gap model or Imitation Gap Model

was developed by: ' .
(a) M.V.Posner
(b) Samuelson
(¢) Ricardo
(d) Kravis

Which one was replaced by WT'O on January
1, 19957 !

(a) NAFTA (by IMF

(¢ IRDB (d GATT

Linder’s theory of overlapping demand provides an

explanation of:

(a) Product life cycle theory

(b) Factor endowment model

() Economies of large-scale production

(@) Intra industry trade

The Leontief paradox pr_ovided:

(a) Support for the principle of absolute

advantage

(b) Support for the factor endowment model

(¢) Evidence against the factor endowment
model

(d Evidence against the principle of absolute

advantage
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5. Which trade theory suggests that comparative
_advantage tends "to shift from one nation to

another as a product matures?

(a) Inter industry trade theory
(b) Intraindustry trade theory »
(¢) Product life cycle theory

(d) Overlapping demand theory

6. Balance of Payments uses the—
-system of accounting.

(a) Single-entry (b) Double-entry
(¢) Cash basis (d) Accrual basis
7. FDI is the formulation policy of which nodal
~ department?
(a) NABARD
() SEBI

(¢) Department for promotion of industry and
internal trade

(d RBI
8.  The foreign trade multiplier (K f) is equal to:
(&) Ki=AXAY () Kf=AXAM
(©0 Kf=ASAM (d Kf=AY/AX
Page 3 Code No. : 5259

9.  What is the period of new foreign trade policy of

India?
(a) 2012-2017 (b) 2013-2018
(¢) 2014-2019 ’ (d) 2015-2020

10. The Stolper-Samuelson Theorem postulates that
the imposition of tariff by a nation causes the real

income of the nations.

(a) both and abundant factors to rise
(b) abundant factor to rise

(¢) scarce factor to fall

(d) scarce factor to rise
PART B — (5 x 5 = 25 marks)
Answer ALL quesfions, ‘choosing either (a) or (b).
Each answer should nof exceed 250 words.

11. (2) Explain the general features of modern
theory of international trade.

Or

(b) . Give the main assumptions of
Stopler-Samuelson Theorem.

Page 4 Code No. : 5259
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12.

13.

14

15,

(@)

(b)

(a)

Fxplain the Kenen's luman capital theory.

Or
What is intra-industry trade? Fxplain the
types.
Give the assumptions of Mundellian model.
Or
What expenditure switching and expenditure
reducing policies are?
Explain the FDI policy in India.
Or
Explain the role of MNC and international
trade.
What are the issucs faced by Indiain WT0?
Or
What ¢ the impact of WTO on Indian
agriculture’
PART € — (6 % 8 = 40 marks)

Answer ALL guestions, choosing cither (a) or (b).

Each answer ghould not exceed 600 words,

16. (a) FExplain the Rybezynski - Theoren with

diagram,

Or

(b) Critical Evaluation  of Heekscher-Olhin
Theory of International Trade

pages  Code No.: 520
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20,

(n)

(b)

Explain the four stages of technological gap
theory,

Or

What are the advantage and disndvantages
of vernon's product cycle theory

Critieal evaluations of Mundallian model.

(r

l‘.xplmn the Swan's Model of Internal and
External Stability,

What are the Disadvantages of foreygn direct
investment?

(r

What are the main factors determinants of
foreagn atd?

Explain the structure of WTO

Or
What are the impacts of WTO on Indian

economy’

Page 6 Code No.: 5269



+ (6 pages)

. Code No. : 5262 Sub. Code : ZESM 21

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
Second Semester
Economics — Core
ADVANCED MICRO ECONOMIC THEORY - 11
(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

PART A'— (10 % 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Sales maximization concept is given by
(a) Samuelson
(b) Baumel
(c) Adam Smith
(d) Alfred Marshall

What happens when maximin and minimax values
of game are same?

(a) No solution exists
(b) Solution is mixed

(c) Saddle point exists

. (d) None of these

Marginal productivity theory is also called
() Real theory '

(b) Classical theory

(¢) Constant amount of capital

(d) Monetary theory

Who has contributed the modern theory of interest
rate determination?

(a) Paul A. Samuelson

(b) Gunnar Myrdal

(¢) Eluer

(d) J.R.Hicks

In which year Tibor Scitc;vsky criterion was

~developed?
(a) 1941 (b) 1942
(c) 1946 (d) 1948
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A situation is called —— — if there exists . 10. This type of risk is avoidable through proper

a possible Pareto improvements. : A diversification.
(a) Pareto improvement - (a) Portfolio risk
(b) Pareto dominated (b) Systematic risk

(c) Pareto optimal (¢ Unsystematic risk

(d). Pareto efficient A ] (d) Total risk

Heckscher-Ohlin Model is also called
(@) 2x2x2 Model -

(b) New trade model ]
“(c) Si)eciﬁc factors model - Each answer should not exceed 250 words.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosin'g either (a) or (b).

(d) Gravity model ’ , 11. (a) Explain the assumptiohs of Baumol’s theory of
. sales maximisation.
The second best theory was set out by

(2) David Li or
avid Lipsey _ . :
() Richard Tipse | . : ) (b) Narlrate the importance of game theory.
(© John Lipsey 12. - (a) Explain the Fermat-Euler theorem.
(d) Robert Lipsey : _ Or :
Risk aversion is best explained by : (b) Explain critically Shackle’s theory of profit.

(@) Timidity T 13. (a) State the assumptions of pigovian conditions.

Or
(b) Write a brief note on pareto optimality.

(b) Increasing marginal utility of income

(© Decreasing marginal utility of income
(d) None of thege

Code No. : 5262 Page4.  Code No. 5262
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“14,

15.

16.

17.

(a) Distinguish between - tatonnement and
non-tatonnement process.

Or

(b) Explain the social welfa;re functions.

-(a) Write the properties of utility function.
. 19,

Or

(b) Write a short note on contingent consumption.

PART C'— (5 x 8 = 40 marks)
Answer ALL quéstions, choosing either (a) or (b).

Each answer should not exceed 600 words.
(a) Discuss the recent developments in the theory
of pricing.
Or

(b) Briefly .explain Wil_h'ainson’s model of
managerial discretion.

(8) Critically examine the liquidity preference
theory.

.. Or
(b) Enumerate the modern theory of profit.

Page 5 Code No. : 5262

18.

20.

(a)

(b)

(a)

(b)

(a)_

(b)

Discuss critically the pigovian welfare
condition.

Or

Analyze the marginal conditions of Paretian
optimum.

Elucidate the second best theory.,
Or
Describe the impossibility theorem.

Briefly discuss the criticisms of the .expected

utility theory. -
‘Or )

Explain in detail the role of stock market in

economic development.
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M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
Second Semester
Economics — Core

MACRO ECONOMIC THEORY
AND ANALYSIS — 11

(For those who joined in July 2021 onwards)

Time : Three hours
PART A — (10 x 1 =10 marks)

Maximum : 75 marks

-Answcr ALL questions.
Choose the correct answer :
1. IS-LM curve was introduced by
(b) Hansen

(d) Paul Samuelson

(a) Keynes
(¢) J.R.Hicks

o

The new classical economists assume that the
money wage adjusts rapidly with the

(a) Money market
(¢) Real market .

(b) Labour market
(d) None of these

Tobin classifics the type of investors into

() 2 ®) 3
() 4 d) 5
4. “Liquidity preference as behaviour towards risk” is

the famous article of
(a) Baumol

(c) J.5.Mill

(b) Tobin
(d) Keynes

5. According to the Mundell Fleming Model an
appreciation of the exchange rate will cause the
LM curve to

(d) Shift to the right

(b) Shift to the left

(¢) Remain unchanged

(d) Become flatter

6. Iﬁ Keynesiz{n approach, the 45° angle represents?

(a) Aggregate derr'u;nd

() Aggregate supply

(é) Aggregate savings

d) Effective demand
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10.

W&igo price flexibility is the contribution of which
of the following economist?

(a) J.B. Say

(b) J.M. Keynes

(c) J.8.Mill

(d) A.C. Pigou

Which among the following is not a tool of fiscal
policy?

(a) Government expenditure

(b) Taxation

(¢) Transfer payments

(d) Bank rate

I*iscal instruments are handled by
(a) RBI

(b) SBI

(¢) Government

(d) World bank

Monetary policy targets is
(a) Supply of money

(b) Bank credit

() Long term interest rates
(d) Price stability

Page 3 Code No. : 5263

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

11,

12.

13.

14,

Each answer should not exceed 250 words.

(a) Derive IS-LM model.
Or
) Explai;l IS-LM model with government sector.
(a) Explain Tobin's approach to demand for
money.
4 Or

(b) Explain Post-Keynesian approaches tfo
demand for money, its superiority over
Keynesian theory.

(a) Bring out the relatioriship between bond
* prices and rate of interest.

Or

(b) Explain the central proposition of Keynesian
Macro economics.

(a) Explain the new Keynesian theory of nominal
wage stickiness.

Or
: ics? Discuss its
(b) What is new Keynesian economics? Discv

policy implications.
Page 4 Code No. : 5263
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15. (a) Examine the effectiveness of monetary and

fiscal policy with the help of IS-LM curves.

Or

(b) Explain the goals of macro economic policy.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a)

(b)

17, (a)

(b)
18. (a)

(b)

Explain the faétors that determine the slope of
the IS and LM curves.

Or

Explain the equity between saving and
investment in Neo-classical view.

Discuss Baumo’s approach to demand for
money.

Or

Explain the Revival of monetarism,

Discuss Mundell-Fleming model under fixed
and flexible exchange rates.

Or
Explain the Revival of Keynesian Macro
economics.

Page 5 Code No. : 5263

(a)

(b)

(@)

(b)

How does new Keynesian economics differ
from new classical macro economics?
Or

How do new Keynesian economists explain
nominal price rigidity?
Explain monetary Vs fiscal policy using IS-LM
model.

Or
the principal instruments of

Explain
monetary policy.

Page 6 Code No. : 5263
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PART A —- (10 x 1 =10 marks)
Answer ALL questions.

Choose the correct answer :

The slope of 15 curve
(a) Vertical (b) Slope upward
(¢) Slope downwards (d) Horizontal

Under Keynesian heory employment 18

determined by

(a) Saving investment equality

(o) Production function

() [Effective demand

(d) Demand for meney and supply of money

In Keynesian approach, the 45° angle represents

(a) aggregate demand (b) aggregate supply

() aggregate savings (d) effective demand

Monetary policy targets is

{(a) supply of money

(b) bank credit

(¢) long term interest rates
(d) price stability

Which among the following is not a tool of fiscal
policy?

(a) Government expenditure
(b) Taxation

(¢) 'Transfer payments

(d) Bank rate

The primary purpose of the RBI monetary policy is

to maintain

(a) wealth (b) exchanges rate
(¢) growth (d) price stability
Page 3 Code No. : 8366

11.

12.

13.

14.

The relationship between money supply and price
ievel under quantity theory of money is

(a) Direct non proportionate relationship

(b) Inverses proportionate relationship

(¢) Direct proportionate relationship

() Inverse non—proportionaté reiationship

If the demand for real money balances does not
depend on the interest rate, then the cm curve

(a) slopes upto the right

(b) slopes down to the right

(¢) is horizontai

(d) 1is vertical

The higher point of effective demand leads to
() full employment equilibrium
(b) under-employment equilibrium

(¢) investment equilibrium

. (d) none of the above

The mundell — fleming model assumes that -
(a) prices are flexible

(b) prices are fixed

(¢) asin the IS-LM model prices are fixed
(d) asin the IS-1.M model prices are flexible

Page 2 Code No. : 8366

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Rach answer should not exceed 250 words.

(a) Examine the classical vs Keynesian model of
income and employment.
Or
(1) Explain Keynesian views on interest.

(a) State Baumol approach to demand for
money.

Or
(b) State Tobin approach to demand for money.
(a) Describe the Central proposition  of
Keynesian macro economics. '
Or
(b) Bring out the relationship between bond

prices and rate of interest.

(a) Explain the ways and price rigidities in
Keynesian economics.
Or

(b) What is new Keynesian economica? Discuss
its policy implications.
Page 4 Code No. : 8366
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»ide No. : 8367 Sub. Code : ZESM 23

. (CBCS) DEGREE EXAMINATION, APRIL 2022
Second Semester
Economics — Core
MATHEMATICAL METHODS
(For those who joined in July 2021 onwards)
Maximum : 75 marks

: Three hours

PART A — (10 X 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

The number of rows and columns of a matrix is

called .
{(a) Order ~(b) Dimension
{¢) Size (d) All the above

If y =f(x), second order condition for maxima is

dzy dz .
—> >0 b —_—
@ © e 7 <0
d’y d’y
H - :0 d _______
© @ Zz=0

When the average cost curve is rising upwar ds, its
slope will be positive, that is,

‘a) MC<AC (b) AC=MC
Yy  MC > AC (d) MR =MC
fdex =9
a) * . c b = . C
6 - ) 2
©°
) x+C (d) 419— +C

dnear programming problem standard form
nvolves

1) One part (b) Two parts
2)  Three parts (d) Four parts
Page 3 Code No. : 8367

10.

12,

If a; = —~a,; is called as

(&) Symmetric matrix

() Skew svmmetric matrix

(¢) Square matrix

{(d) Diagonal matrix

The sum of diagonal elements of a square matrix
A is called

(a) Trace (bY Transpose

(¢) Determinant {d) Rank

Input-output analysis are widely used in
(a) National income accounting

(b) Economic planning

(¢) The effects of war and trade cycles

(d) All the above

dy
If y=e*, “2. =7
Y dx
(a) e” b))  xe”
() x.e” (d) 2xe*

Page 2 Code No. : 8367

The number of non-zero variables is equal to the
number of structured constraint is

(a) Feasible solution (b) Basic solution

{(¢) Dual problem (d) Optimal solution

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a) Find , if —~A+2B=6C, where

r1 2 ~1] ;’2 -1 -7’]
A= i |and C= 0 0.
|
1 [4 -1 ~-5J
3 6 B S B
® I A= and  B= o
7 0 Lb ’3;
5 4
and C= [ verify that
11 9]

(A+B)-C=A+(B-0C).

2 11
(a) Find the inverse of the matrix A = [3 A I

Or
(b)  What are the types of input-output model?
Page 4 Code No. : 8367
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13, {(a) PFind :iy of following function, if
. ‘x’ .
y = (xt +x7) (" + ).
Or
(b) Find the clasticity of demand and marginal
revenue, at P =1, if the demand function
g=T-2p.
3x
14, {a) Integrate: j‘"’“Tm?
(x* ~2)
Or
5
(b) Integrate: | (x® —2x - 3)dx.
15. (a) What are the assumptions of linear
programming problem?
Or
(b) Obtain dual of the following linear
' programming problem
Maximize Z = 2%, + 3%y
Subject to
x, +3x, <12
2x, +%, <6
x, +dx, <10, and x;, %, = 0.
Page 5 Code No. : 8367
(b) In an economy of two industries A and B,
the data in million of rupees is given below.
Purchase by Final Total
A B Demand Output
Sales A 12 6 6 24
By B 6 3 9 18
Determine the total output, if the final
demand changes to 18 for A and 36 for B.
18. {(a) Fxamine the features of Cobb-Douglar
production function.
Or
(v Find first and second order partial
derivatives of the following function
7 —9x% +Bxly+xy®+y and also verify
oz o°Z
that ——= .
Oxdy  Oydx
19. (a) Evaluate the following :

() jt_lxz(xg +5)Y dx

(i) jm+5x+ﬂdx.

Or

Page 7 Code No. : 8367

PART ¢ — (5 x 8§ =40 marks)

Answer ALL guestions, choosing either (a) or (b).

6. (a)
(b)

17. ()
)
20. ()
(b)

Examine the properties of determinants of a

matrix.

Or

rs 1 —zw

GivenA*-:]*—‘J 9 9|
e 5o
1 -2 38 f4 -3 11
B=l5 -6 -4| and C:\(S 2 -1
7 -9 8 0 -4 sj

Show that (i) A(B+ C)=AB+AC and
Gi) (A+B)C = AC + BC.

golve the following linear equations

~ — R
23, + 3%, =0

11x, —bx, =6.
Or

Page 6 Code No. : 8367

The demand function for a commodity
P =30-2D. The supply function P=3D.
Find consumer’s surplus.

Qolve the following problems by graphical
method Bx +5y=20. Min Z =2x-+3Yy,
Subject to the constraint

bx+byz= 20
5x +10y > 30 and
x,y20.

Or

Use graphical method to solve the following
TPP.

Maximise Z =3x; +4x,

Subject to the cénstmints
Qx, +x, =40
2x, + D%,y <180

x,,%5 2 0.

Page 8 Code No. : 8367
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

1. (AB) =
(a) ATBT
(b) BTAT
() ABT
(d) ATB

Lo

If a matrix is a , then the
determinant is equal to the product of the
elements on the leading diagonal.

(a) Square matrix (b) Rectangular matrix’
() Triangular matrix (d) Hermitian matrix

A Square matrix is said to be a ‘Non-Singular
Matrix/, if its determinant is

(a) Equal to one (b) Not equal to one
(¢) IEqual to zero (d) Not equal to zero

The important assumption of Input output
analysis is

(a) Increasing returns to scale
(b) Product differentiation
(¢) Factor substitution

(d)  Only one homogeneous product

If y =log %%, find L2
dx

@ 2 ®
X

| r

© @

] [~

Page 2 .Code No. : 5264



10.

Compute marginal utility of y for the total utility

function U = 4x? — 3y*

(a) 8x () 6y

(c) 8x—6y (d -6y

If MR = 100 — 4Q, TR will be

@ -4 ) 96

© 100Q-2Q+C (@) 100Q-4Q2+C

Consumer’s surplus can easily be found out with

the help of

(a) Differentiation

(b) Integration

(¢©) Definite integration

(d) Indefinite integration

The linear programming was first formulated by

(a) George B.Dantzig
(b) Kantorovich

-(¢ T.C.Koopmans

(d) R.Dorfman

If the primal problem of LPP pertains to

maximisation, the dual problem pertains to
(a) Maximisation (b) Minimisation

(¢) Optimisation

Page 3

(d) Feasible solution

Code No.' : 5264

) 1 -2 3
11. (a) FindtherankofmatrixA:[4 -1 —2]

13.

(b)

(a)

(b)

(a)

(b)

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (@) or (b).

-2 1 b}
Or
3609 1 56
If A=|1 0 1| and B=|2 3 1]\'erify
2 3 5 10 2)

that (A + B)T = AT + BT,

Write down the importance of Input-Output
Analysis.
Or

Find the inverse and solve the system of
equations 2x — 3y = 3,4x - 11y = 11.

Evaluate the Marginal and Average Revenue
Functions for the Total Revenue

Function R = 300 + 1200Q - Q*.

Or

Compute Marginal Utilities of x and y at
x =1 and y = 3 for the Total Utility Function

U= 2xy% + 325y - 2v + Ty.

Page 4 Code No. : 5264
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16, (a)

14. (a) [Integrate the following with respect to X

J'(st +7x® - 2x + 1)dx
Or
2
(b) f(xz —-5x + 2)dx
1 f
15. (a) What is Linear AProgramming? State the
basic steps in the formulation of L.P.P.

Or

(b) Describe the basic concepts of Linear
programming.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
| Explain the types of matrices.
Or .
® I A- [_34 ‘12], B= [3 2 2] il
C-= B ;51 g:l Prove that '
A(B+C)= AB + AC.

Page 5 Code No. : 5264

19.

(n)

(b)

(@)

(b)

()

(b)

Solve the following equations
251 Ay z = 26;3x v 2y + Bz = B
2 =3y 4 Az = 16

Or

[ixplain the agsumptions of Input-Output
Analysis,

[find the derivative of
__ 1
Ax + 2
Gi) y=(x*+8)(2x* - 8")
Or

i -y

IFind the profit ' maximization Output level,
Profit, Total Revenue, Average Revenue,
Marginal Revenue, Total Cost, Average Cost
and Marginal Cost, given the Demand

Function q = % ~40, and Average Cost
Function AC = 100 + 10q.

Given the demand function P =8 -~ 2x and
the Supply function P =2+zx. find the
Consumer’s Surplus.

Or

Iind the Producer’s surplus for the Supply
function P = (x + 2)*, when P, = 25

Page 6 Code No. : 5264



20. (a) Give the various applications of Linear
é Programming.

Or

() Draw the graphs of the following
simultaneous inequalities and indicate the
optimal solution.

Maximize z = 2x + 10y
Subject to 2x + 2y <18

- bx +2y <30
x20,y20

Page7 .  Code No.: 5264
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PART A — (10 X 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

Laissez faire policy was given by ————— _
(b)
(d)

Ricardo
Karl Marx

Adamsmith
Marshall

@)
©)
Which of the following is not wealth? 6.
a)
b)
c) Factory building

4

Inventory

Reputation of a firm

Water is river

The concept of ‘Scuplus value’ is developed by

a) Pigou Ricardo

(b)

¢) Marx (d)

Schumpeter

Che term ‘Inflationary gap’ was given by ————
(b)
(d)

a) Pigou Ricardo

c)  Keynes Marshall

12.

“he book, “Theory of Glut” was given by
(b)
(d)

a) J.B.Say A.C. Pigou

3 Malthus J.8. Mill

13.

vhich one of the following stimulates the
evelopment of a country during depression?

1)  Inducement to invest

. 14,
) Monetary policy

) Inducement to savings

D Fiscal policy

Page 3 Code No. : 8368

11

Name the economist who expected the saving to be

optimized and not maximised ————-
(b)
(d)

Keynes Ricardo

()

(¢}  Smith Malthus

Schumpeter assigns the role of innovator to

Creditors

(b)
(d)

(a) Capitalist

(¢) - Entrepreneurs Workers

Ricardd’s master piece ig ——————

(a) Principle of political economy
(b)  Principle of economics

(¢)  Principle of welfare economics
(d) None of the above

Which one of the following classical model is the

admixture of socialism?

(a) Malthus model {b)y Marshall model
(¢) Keynesian model (d) J.B. Say’s model
Page 2 Code No. : 8368

PART B -~ (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Fach answer should not exceed 250 words.

(a) Define division of labour.
Or
(b) State the economic doctrine of the
mercantalist. '
(a) Give a short note on ‘General equilibrium’.
Or
(b)  Mention the feature of mercantilism.
(&) State the advantages of ‘Theory of value’.
Or
(b)  Narrate Simor’s economic ideas.
(a)  What are the reasons for the breakdown of
capitalism?
Or
(b)  Point out the features of socialism.

Code No. : £368
[P.T.0]
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Lt

)

Define ‘Physiocratism’.

Or

Narrate the views of Amartyasen about
ceonomic welfare,

’ PART € -— (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

3
oo
ha

by
17, (=)
{h)
(5, (&)
(b)

wch answer should not exceed 600 words.

Critically analyse Malthusian theory of

popuiaion.
Oy
Explain the various canons of taxation.

flucidate the marginal productivity theory of
wages.

Or
Flaborate the views of twentieth centuyy
aconomic thought.

Distinguish between Utopian’s and
Proudhon’s scientific socialism.

Or

Hxplain Pigow's ‘Eeonomic Welfare’.

Page b Code No. : 8363

19.

(b)

Explain how does mercantilism arise in
western countries.

Or

KExplain Keynesian employment theory.

Describe Amartiysen’s capability theory of
value.

Or

Examine Ricardo’s
cconomic thought.

views on English

e s e

Page 6 Code No. : 8368
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10.
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Sub. Code : ZESM 31

M.A (CBCS) DEGREE EXAMINATION.
NOVEMBER 2022,

Third Semester
Economics — Core
AGRICULTURAL ECONOMICS
{For thosc who joined in July 2021 onwards)

Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

KCC was introduced in India

(2) September 1998 (b) October 1998

{c) dJuly 1998 ( August 1998

Full Form of CAP is ——8

(a) Cost and Price

(b) Common Agriculture Policy

(c) Common Agricultural Policy

fg)/ Cooperative Agricultural Policies

The agricultural price commission was set up in
the year
(a) 1975

(cr 1965 (CY

Which of the following is considered as protector of
national wealth?

(b) 1970
1969

(b) Transportation
(d) Market information

(a) Processing unit
W‘Warehousing

In ————————— market, future sale and purchase
of commeoedities will take place at current time,

f&r Forward gﬁ\ International
(c) Perfect (d) Spot
-

Headquarters of National institute of agricultural
marketing is at

(b) Kolkata
)y Jaipur

(a) Nagpur
(c) Bangalore

Page 3 Code No. : 5268

B —

e e

4.

11.

12,

13.

NABARD 8 —— o,

(gﬂ” An autonomoua hody

(b) T'ully owned by govt. of India
(e) Private-public sector

() All of the above

The AGMARK was amended in the year

« 5 5
(7) 1985 (by—TD86 I
(c) 1987 (dy 1988 .

Which one is not alcertiﬁcation mark in India for

S
o~

food products?
(a) FSSAI

() AGMARK
The full form of AGMARK is

(a) Agricultural Grading and Marketing
(b)/Agricultural Products Grading and Marketing

(b) FPO
(d) India Organic

(c) Agricultural Produce Grading and Marketing

(d) Agricultural Marketing

Page 2 Code No. : 5268

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Write a note on Agriculture.

Or
(b) List out the scope of agriculture.

(a) Give an account structural changes in
Agriculture.
Or
(b) Discuss about the causes of agriculture
production.
(a): What do you mean supply-of labour?
Or
(b) Enumerate the problems of agricultural

labour.

(a) Describe the nature of agricultural finance.
Or
(b) TRecall the cancept of farm capital.

Code No. : 5268

Page 4
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15.

1G.

15
~

18.

{n) Whatis agricultural policy?

Or

(b) Summarire the obiectives of agrioultural
poliey.
PART C— (5« 8= 40 marks)

Answer ALL guestions, choosing either (a) or (b)
Each answor should not exceed 600 words.

~ ~ / r
(@) Enumerate the Inter - Sectgral linkages of
agriculture.

Or
1) Describe the agriculture an overview.
(&) Discuss the Efficiency relation in Indian
Agriculture.
Or
(b) Distinguish between low production and
productivity.

(2) Explain the minimum wages for agricultural

workers.
Or
(b) Give a detail account of Self-Employment
programmes.
Page 5 Code No. : 5268

19,

20.

(n) Analyse the sourcea and problemg of

agrieultural finance.

Or

(h) Discuas the types and Nature of agriculturaj
finance,

(n) Discuas about agricultyral taxation.

Or
(b) Explain the role WTOQ g agriculturs,

Code No. : 5268
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Code No. : 5268 Sub. Code : ZESM 31

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.
Third Semester
Economics — Core
AGRICULTURAL ECONOMICS

(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks

PART A— (10 X 1= 10 marks)
Answer ALL questions,

Choose the correct answer :

1. KCC was introduced in India

() September 1998  (b) October 1998

(c) July 1998 (d) August 1998

"6, Full Form of CAP is
(a) Cost and Price
(b) Commeon Agriculture Policy
(¢) Common Agricultural Policy
(d) Cooperative Agricultural Policies

7. The agricultural price commission was set up in

the year
(a) 1975 (b) 1970
(c) 1965 (d) 1969

8. Which of the following is considered as protector of
national wealth?
(b) Transportation

(d) Market information

(2) Processing unit
(c) Warehousing

9. In market, future sale and purchase
of commodities will take place at current time.

(b) International
(d) Spot

(a) Forward
(¢) Perfect
10. Headquarters of National institute of agricultural
marketing 18 at
(a) Nagpur
(c) Bangalore

(b) Kolkata
(d) Jaipur

Page 3

Code No. : 5268-

12.

13.

NABARD is

(a) An autonomous body

(t) Fully owned by govt. of India
(c) Private-public sector

(d) All of the above

The AGMARK was amended in the year

(b) 1986
(d) 1988

(a) 1985
(c) 1987

Which one is not a certification mark in India for

food products?

(a) FSSAI () FPO
(¢) AGMARK (d) India Organic
The full form of AGMARK is

(a) Agricultural Grading and Marketing
(b) Agricultural Products Grading and Marketing
(¢) Agricultural Produce Grading and Marketing

(d) Agricultural Marketing

Page 2 Code No. : 5268

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Write a note on Agriculture.

Or

(b) Listout the scope of agriculture.

(a) Give an account structural changes in
Agriculture.
Or
(b) Discuss about the causes of agriculture
production,

(a) What do you mean supply of labour?

Or

(b) Enumerate the problems of agricultural

labour.
(8) Describe the nature of agricultural finance.
Or

(b) Recall the concept of farm capital.

Code No. : 5268

Page 4
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15, (n) Whatis agncultural pohey? 19 (a) Analyse the sources and problems of
" agricultural finance.
r

(t) Summarize the objectives of agricultural Or
policy, () Discuss the types and Nature of agricultural

finance.
PART C — (5 » 8 = 40 marks)

20 (a) Dis bout agricultural taxation.
Answer ALL questions, choosing either (a) or (b) Cuss aboul ag

Each answer should not exceed 600 words. Or

16. (a) Enumerate the Inter - Sectoral linkages of (b) Explain the role WTO in agriculture.

agriculture.

Or

(b) Describe the agriculture an overview.

17. (a) Discuss the Efficiency relation in Indian

Agriculture,
Or
(b) Distinguish between low production and
productivity.
18. (a) Explain the minimum wages for agricultural
workers.
Or
(b) Give a detail account of Self-Employment
programmes. '

Page 5 Code No. : 5268 Page 6 Code No.: 5268
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M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022.

Third Semester
Economics — Core
DEVELOPMENT ECONOMICS
(For those who joined in July 2021 onwards)

Maximum : 75 marks

PARTA—(10x1=10 marks)

Answer ALL questions.

Choose the correct answer :

According to instability of Harrod-Domar models
leads, if G>G,,

(a) Secular inflation
(b) Secular stagnation
(c) Frictional inflation

(d) Frictional stagnation

According to Lewis capitalists surplus arise due to 10.

(a) Marginal productivity of labour is lesser than

wage

(b) Marginal productivity of labour equals to

wage

(¢) Marginal productivity of labour is greater

than wage

Marginal productivity of labour is lesser than
technology

G

11.

Shadow price of the capital is determined by

(a) Demand for capital (b) Supply of capital

(¢) Both (a) and (b) (d) Neither (a) nor (b)

Under cost — Benefit analysis costs and benefits
are measured in terms of

(a) Opportunity prices (b) Accounting prices

(¢) Market prices (d) Economic prices

A form of national economic planning in which a
target is set for the growth of national output over
a series of years

(a) Imperative planning .
(b) Indicative planning

(¢) Annual planning

(d) Perspective planning

Page 3 Code No. : 5269

12.

13.

Which of the following is not an assumption of
Slow’s model?

(a) Price and Wages are flexible
(b) The saving ratio is constant
(c) Non-Neutral technical progreas

(d) Constant returns to scale

Who gave the concept of effective demand at first?
(a) Adam Smith (b) David Ricardo

(¢) Karal Marx (d) Robert Malthus

Accordling Marx to Stationary State indicates
(a) Net investment is positive

(b) Net investment is zero

(¢) Gross saving is positive

(d) Net saving is negative

The concept of Balanced growth associates with
(a) Rosenstein Rodan (b) Hrischman

(d) Arthur Lewis
Cade No. : 5269

(c) Fei-Ranis
Page 2

Economic planning is not an idea of
(b) Communism

(d) Mixed Economy

(a) Socialism

(c) Capitalism
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Differentiate economic growth from
development.
Or
(b) Explain the John Robinson’s Golden age.
(a) Discuss the structural analysis of
development.
Or

(b) Briefly describe the Adam smith contributions
to economic development.

(a) Illustrate vicious circle of poverty.
Or
(b) Expound the dependency theory of
development.
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14. (a) Bringout the need for investment criteria.

Or
(b) List out the limitations of cost benefit
analysis.
15. (a) Enumerate the role of planning under
capitalism.
Or

(b) Sketch the merits and demerits of perspective
and annual planning.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a) Critically analyse the Harrod and Domar
model.

Or
(b) Explain the factors affecting economie growth.
17. (a) Examine the Ricardian model of distribution.

Or

(b) Analyse the Schumpeter theory.
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18. (a)

(b)
19. (a)

(b)

20. (a)

()

Evaluate the Unlimited supply of labour
theory of economic development.

Or
Examine the Big push theory.

Summarise the need for investment criteria in
developed countries.

Or

Cive a detail note on internal rate of return
criterion of cost benefit analysis.

Review the objectives of planning.

Or

Tlucidate the requisites for succesaful
planning.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
The wvalue of money in Fisher's equation is
determined by
(a) Demand for money
(b) Supply of money
(c) Demand and supply of money

(d) None of the above

In what way the Central Bank serves as a
Banker's Bank?

(a) By maintaining gold reserve

(b) By controlling currency

(e) By acting as 2 lender of the last resort
{d) By reducing the interest rates

What method is used by the Bank to read code on
cheque?

(a) MICR (b)) OCR

(¢} OMR (d) None of the above
Which is the largest private sector bank in India?
(a) ICICI

(b) Axis Bank )

(¢y HDFC

(d) Dhanalakshmi Bank Ltd.

Naresimhan committee was related to which of
following reforms?

{a) High Education reforms

(b) Tax structure reformes

(e) Banking structure reforms

(d) Planning implementation reform
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10.

11,

12

13.

Aceording to the Quantity Theory of Money, the
value of money depends upon .

(n) Qunntity theory of money in circulation
(b) Purchasing power of maney
(¢) Demand for money

(d) Price leval

High-pawered money ia also known as
(1) Base money (b) Reserve money

() Narrow money (d) All of the above

Who stated, “Bad money drives good money out of
circulation, ‘when both of them are full legal
tender"?

(a) Irving Fisher (b) Milton Friedman
(c) J.M. Keynes (d) Thomas Gresham

Which of the following is a qualitative or selective
method of eredit control by the central bank?

(a) Bank rate or Discount Rate Policy
(b) Open market operations
(c) Cash Reserve Ratio

(d) None of the above
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As of September 2021, how many public sector
banks are included in the Indian Banking system?

() 14 (b) 10
(©) 16 (d) 12
PART B — (5 x 5 = 25 marks)

Answer ALL-questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Point out the concepts of Monetary Economics.
Or
(b) Write a note on Cash Balance Approach.
(a) What do you mean High Powered Money?
Or
(b) State the measures of money supply.
(a) Define Central Bank and its role.
Or

(b} Give an account on the functidns of RBI.
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14,

15.

16,

Iﬂ

18.

(a) Write a short note on Monetary Poliey.
Or
{(b) List out the objectives of monetary policy.
(n) Describe the Innovative Banking.
Or
(b) Give an account of capital market reforms.
PART C — (5 » 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

(a) Explain the inventory theory of money.

Or
(b) Elaborate the Fisher's Quantity theory,

(@) Analyse the Money Multiplier Process.
Or

determinants

(b) Enumcrate the of money

multiplier.

(a) Discuss the role of central bank.

: Or
() Write in detail about the RBI and Bill Market
Scheme.
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19,

20,

(8) State the instruments of monetary policy.

Or
(b) Discuas the Time Lags.

(a) Determine the recent banking reforms.

Or
(b) Analyse the recent trends in banking systems.
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PART A — (10 x 1= 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Ex Post Facto research means
(a) The research is carried out after the incident °

(b) The research is carried out prior to the
incident

" (c¢) Both (a) and (b)
(d) Nonc of the above

Controlled group condition is applied in

(a) Survey research

(b) Historical research

(¢) Experimental research

(d) Descriptive research

Which of the following isfare techniques of
probability sampling?

(2) Cluster Sampling

(b) Multi stage sampling

(¢) Systematic sampling

(d) Quota sampling

The basis of selection of the problem is
(a) Two just opposite experiences

(b) The suggestions given after research
(¢) The counseling with expert's

(d) All of t_he above

Which of the following is NOT a source of primary
data?

(a) Original documents (b) Published documents

(¢) Artifacts secondary (d) Relics
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What is the name of a research study conducted
before the intended study?

(a) Mini-Study (b) Practice Study
(c) Pilot Study (d) Pivot Study

In Data processing, what does the abbreviation
SAP stand for?

(2) Systems, Applications, Product

(b) Sales, Allocations, Prices

(c) Systems, Authorisations, Programs
(d) Systems, Ads, Processes

A hypothesis is a ‘

(a) Law (b) Canon

(c) Postulate (d) Supposition
The method of research reporting should be
(a) Scientific _

(b)‘ Ethical and attractive

{©) " Personal

(d) Favourable to globalisation
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10. What item contains detailed information about
something in the text?

(a) Footer (b) Foot note
(¢) Header (d) Head note

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Explain the significance of Research.
Or

(b) Narrate the objectives of Research.

12. (a) Explain the necessity of defining the research
problem.

Or
(b) Write a brief note on sampling error.
13. (a) State any four pros of pilot study.
Or
(b) Indicate the sources of Data.
14. (a) Explain the scaling techniques in Research.
. Or
(b) Explain the characteristics of hypothesis.
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15, (a) Write the techniques of interpretation.

Or

(b) Bxplain the steps in drafting a research

report,

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
IZach answer should not exceed 600 words.

16. (1) Discuss the types of research.

Or

(b) Distinguish between Research methods and

Research Methodology.

17.  (a) Briefly explain the need for literature.

Qr

(b) Enumerate the methods of sampling,.

18. (a) Describe the methods of collecting primary

data. '

Or

(b) Clearly explain the difference belween
collection of data through questionnaires and

schedules.
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19.

()

()

)

Flucidate the uses of computers in processing
of data.

Or

Analysis the types of crrors in testing of
hypothesis.

Describe the precautions of writing n research
report.

Or

“Interpretation is a fundamental component of
research process”. Explain, Why so?
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